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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622843
Question Shuffling Allowed : Yes

Question Id : 5362281079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number of girls enrolled 1n three different
Universities A. B and C over the vears 2015 to 2019. Based on the data in the table. answer
the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a University

Year
A B C

2015 | 15.000 10,000 5,000

2016 | 10.000 17.500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25,000 15,000

2019 | 25,000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 5362281080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Umiversity C in the year 2018
and the total number of girls enrolled in University A and University B together in the same
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362284201. 1
5362284202. 2
5362284203. 3
5362284204. 4

Question Number : 2 Question Id : 5362281081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in the year 2019 and 2015 1s minimum

for

(1) University A only (2) University B only

(3) Both University A and University B (4) Both University A and Unmiversity C

Options :

5362284205. 1
5362284206. 2
5362284207. 3
5362284208. 4

Question Number : 3 Question Id : 5362281082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the vear 2017 in all the three Universities

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362284209. 1
5362284210. 2
5362284211.3
5362284212. 4

Question Number : 4 Question Id : 5362281083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled in all the three Universities together in the vear 2015 1s what

percentage (%) of the total number of girls enrolled in University C in the year 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362284213. 1
5362284214.2
5362284215. 3
5362284216. 4

Question Number : 5 Question Id : 5362281084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together i1s second highest for
the vear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362284217. 1
5362284218. 2
5362284219. 3
5362284220. 4

Question Id : 5362281079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Number of girls in a University

Year
A B C

2015 | 15.000 10.000 5.000

2016 | 10.000 17,500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 | 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 5362281080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o9 2018 ¥ favatamme™ C # Ffaen o4 aTell STierpsl =i %ol @EE a9 361 99 {GvataeeE A 3R

favafaamea B 5 afaen =+ arett afersradt i Affeid Fel S 1 S99 391 7 ¢
(1) 4:3 (2) 3:4

(3) 2::3 (&) 1:3
Options :

5362284201. 1
5362284202. 2
5362284203. 3
5362284204. 4

Question Number : 2 Question Id : 5362281081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284205. 1
5362284206. 2
5362284207. 3
5362284208. 4

Question Number : 3 Question Id : 5362281082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

a9 2017 | A1 Tavata=er § FiEen Sarel aerhiAl i SAHd W = o

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362284209. 1
5362284210. 2
5362284211.3
5362284212. 4

Question Number : 4 Question Id : 5362281083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2015 H A FvatmeE 4 afger SHaEe aiess fi wfEea Fe dem =9 2018 H@

Tavafaamem C o eifgen sHare anferwiaAt i Het gean F1 e gfaem 27

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362284213. 1
5362284214.2
5362284215.3
5362284216. 4

Question Number : 5 Question Id : 5362281084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362284217. 1
5362284218.2
5362284219. 3
5362284220. 4

Sub-Section Number : 2
Sub-Section Id : 53622844
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

From the following. identify those characteristics which go within the categorv “helping
behaviour’ for becoming an effective teacher :

(A)  Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (C). (D) and (E) only (4) (A). (C)and (D) only
Options :



5362284221. 1
5362284222.2
5362284223. 3
5362284224. 4

Question Number : 6 Question Id : 5362281085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284221. 1
5362284222.2
5362284223. 3
5362284224. 4

Question Number : 7 Question Id : 5362281086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D) Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362284225. 1
5362284226. 2
5362284227. 3
5362284228. 4

Question Number : 7 Question Id : 5362281086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284225 1
5362284226.2
5362284227. 3
5362284228. 4

Question Number : 8 Question Id : 5362281087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes ‘Rule

learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362284229. 1



5362284230. 2
5362284231. 3
5362284232. 4

Question Number : 8 Question Id : 5362281087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.
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(1) === Toree sty (2) TOIF AT
(3) a5z st (4) wEer At
Options :

5362284229. 1
5362284230. 2
5362284231.3
5362284232. 4

Question Number : 9 Question Id : 5362281088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the scales of measurement, the properties of classification and order. both are
present?

(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362284233. 1
5362284234.2
5362284235. 3
5362284236. 4

Question Number : 9 Question Id : 5362281088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

g ATt o i 9o 9 2T T SufeE B R

(1)  =E= (2) FHF
(3) = (4) I
Options :

5362284233. 1
5362284234.2
5362284235.3
5362284236. 4

Question Number : 10 Question Id : 5362281089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions 1n classroom teaching 1s to promote and
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MOOCs etc. have the potential
to become effective supplements to conventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement I 1s true
Options :

5362284237. 1
5362284238. 2
5362284239.3
5362284240. 4



Question Number : 10 Question Id : 5362281089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284237. 1
5362284238. 2
5362284239. 3
5362284240. 4

Question Number : 11 Question Id : 5362281090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures to

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research 1s not only a przed goal but a prerequisite for

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
5362284241. 1
5362284242. 2
5362284243. 3
5362284244 4

Question Number : 11 Question Id : 5362281090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284241. 1
5362284242. 2
5362284243.3
5362284244. 4

Question Number : 12 Question Id : 5362281091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provides
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heurstics (IT) What 1s the culture of thiz group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of this phenomenon for
thosze people?

Choose the correct answer from the options given below :

(1) (AD), (B)-(IV). (C)-IID. (D)-(II)
(2)  (A)-dD. (B)-I). (C)-IV), (D)-(D)
(3) (A)-(I1D). (B)-(ID). (C)-(D), (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

Options :

5362284245. 1

5362284246.2

5362284247. 3
5362284248. 4

Question Number : 12 Question Id : 5362281091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(I @D, B)-AV). (C)-d1I), (D)-(1I)
(2) (A)-(II). (B)-(III). (C)-@V). (D)-(I)
(3) (A1, B)-ID. (C)-@), (D)-IV)
(4) (A)-(IV), (B)-(I). (C)-ID. (D)-(III)

Options :

5362284245. 1

5362284246. 2

5362284247. 3
5362284248. 4

Question Number : 13 Question Id : 5362281092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362284249. 1
5362284250. 2
5362284251.3
5362284252. 4

Question Number : 13 Question Id : 5362281092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =g wia==m (2) TEf=a® Aia=a
(3)  wWETSE AidaEA (4) FHE Tia=E
Options :

5362284249. 1
5362284250. 2
5362284251.3
5362284252. 4

Question Number : 14 Question Id : 5362281093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnalssance in action
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362284253. 1
5362284254.2
5362284255. 3
5362284256. 4

Question Number : 14 Question Id : 5362281093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 3= (B) 3K (C) (2) Fae (A) R (B)

(3)  #== (C) 3 (D) (4) Faa (D) # (B)
Options :

5362284253. 1
5362284254. 2
5362284255.3
5362284256. 4

Question Number : 15 Question Id : 5362281094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents and
the scholastic achievement of pupils. Which of the following method of research will be

considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362284257. 1
5362284258. 2
5362284259.3
5362284260. 4

Question Number : 15 Question Id : 5362281094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362284257. 1
5362284258. 2



5362284259. 3
5362284260. 4

Question Number : 16 Question Id : 5362281095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Whach of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4d) Avolding eve contact with students

Options :

5362284261. 1
5362284262. 2
5362284263. 3
5362284264. 4

Question Number : 16 Question Id : 5362281095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT TS § efeinEd ¥ ¥ 94 SEvEE B 7
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Options :



5362284261. 1
5362284262. 2
5362284263. 3
5362284264. 4

Question Number : 17 Question Id : 5362281096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B).(C). (D) only
(3  (B). (0. (E) only (4) (C). (D). (E) only
Options :

5362284265. 1
5362284266. 2
5362284267. 3
5362284268. 4



Question Number : 17 Question Id : 5362281096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o1 WU H a7 H F o 7 7 7

(A) AT A FA
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(C)  FHIT=T ==
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(1) #= (A). B) 31 (C) (2)
(3) === (B). (C) #1 (E) (4)

Options :

5362284265. 1
5362284266. 2
5362284267. 3
5362284268. 4

F4a4 (B). (C) 311 (D)

Fa (C). (D) AR (E)

Question Number : 18 Question Id : 5362281097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the

communication barriers.

Reason (R) : Since communication 1s a complex process. regular feedback analysis 1s

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362284269. 1
5362284270. 2
5362284271. 3
5362284272. 4

Question Number : 18 Question Id : 5362281097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284269. 1
5362284270. 2
5362284271. 3
5362284272. 4

Question Number : 19 Question Id : 5362281098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

(1) (A (C). (B). (E). (D) (2) (C). (B). D). A), (B)
(3) (B). (C). (E), (D), (A) 4y (D). (E). (C). (A). (B)
Options :

5362284273. 1
5362284274.2
5362284275.3
5362284276. 4

Question Number : 19 Question Id : 5362281098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A (C). (B), (E). (D) 2)  (O). (B). D). (A). (B)

(3)  (B).(0).(E) D). A @) (D). (E). (). (A). (B)
Options :

5362284273. 1
5362284274.2
5362284275. 3
5362284276. 4

Question Number : 20 Question Id : 5362281099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with ILast II. Last I gives Modes of Commumnication. while List IT provides their

description

ListI List IT
(Modes of Communication) (Dezcription)
(A) Publicity ()’ Reputation management
(B) Propaganda (ITI) Paid message
(C) Advertising (ITII) Non-commercial promotion
(D) Public relations (IV) Communication with motives

Choose the correct answer from the options given below :

(2)  (A-ID. (B)-(ILD. (C)-(IV). (D)-(D)
(3)  A-IV). (B)-1). (C)-11I). (D)-(II)

(4  (A)-dI). (B)-(IV), (C)-ID). (D)-(I)
Options :
5362284277. 1
5362284278. 2
5362284279.3
5362284280. 4

Question Number : 20 Question Id : 5362281099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g=1-I =1 gi-I1 & gafeq Hifao

-1 111
(wFeror fafer) (Fereron)
(A) TER @ e vEeE
(B) ITER D) U #E
(C) fasrm (D) T arorfsas dada
(D) = T7F (@IV) EuEE HO
H=t fo7 T foebent § @ wE = g

1) (A)-(I). (B)-(1I), (C)-(1I), (D)-(IV)
(2) (A)-(ID. (B)-(I1D). (C)-(IV). (D)-(I)
(3) (A)-(IV). (B)-1). (C)-IID). (D)-(I1I)

(4) (A)-(IID). (B)-(IV), (C)-(I), (D)-(I)

Options :

5362284277. 1
5362284278. 2
5362284279. 3
5362284280. 4

Question Number : 21 Question Id : 5362281100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362284281. 1
5362284282.2
5362284283. 3
5362284284. 4

Question Number : 21 Question Id : 5362281100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 3 YA ffu e E

o4 (I): o7 994 & T feel f-sifead (977 =9 <) § TeEn #1535 |
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A1 29 76 2 |
ITIF FYAT o A H I fahedl § H HA I 9 ¢

(1) =y I3k I EH 58 2 |

(2) =y I sk I 2MT e 2 |

(3) FHIT=z Fg 5 7o 2|

(4) =y I AEea 7 g %o oA 7 |

Options :
5362284281. 1
5362284282. 2



5362284283.3
5362284284. 4

Question Number : 22 Question Id : 5362281101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs. she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (D) only
(3) (B) and (D) only (4) (B) and (C) only
Options :

5362284285. 1
5362284286. 2
5362284287. 3
5362284288. 4

Question Number : 22 Question Id : 5362281101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Higar 4 8 WHISA (TeF 8 W Arch) R 9T (UAF 6 W A1) THEG R | oW 3E W1 A et fioat
T T 39 F T 54 o | e § ¥ S iE-E1/HE -0 TaE e

(A)  FEF b THISA UHEE H |

(B) 35 3 HHISAT UHLE H |

(C) 35 5 971 UHEA #l |

(D) IEF 3 97 UHEE H

Fr T2 T faret § @ @R I R

(1)  #a9 (A) 37 (C) only (2) =ae (A) #E (D) only

(3)  Fa= (B) 317 (D) only (4) Fa (B) 37 (C) only

Options :

5362284285. 1
5362284286. 2
5362284287. 3
5362284288. 4

Question Number : 23 Question Id : 5362281102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Complete the series :

R Ty
1 75 2 76
3 77 @ 78

Options :

5362284289. 1
5362284290. 2
5362284291. 3
5362284292. 4

Question Number : 23 Question Id : 5362281102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2.5,9.19.37,.....

(1) 75 (2) 76

(3) 77 (4) 78
Options :

5362284289. 1
5362284290. 2
5362284291. 3
5362284292. 4

Question Number : 24 Question Id : 5362281103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 o'clock will the hour hand and minute hand of a eclock
together?

(D 10% min. past 2 () 1[}% min. past 2
10 . :
(3) 11ﬁ min. past 2 (4) 11 min. past 2

Options :

5362284293. 1
5362284294. 2
5362284295. 3
5362284296. 4

Question Number : 24 Question Id : 5362281103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 239 1{}%1'54:12'47. (2 2999 10%1%1?:117
(3) 2= 11% e m (4) 233 1192 W

Options :

5362284293. 1
5362284294. 2
5362284295. 3
5362284296. 4

Question Number : 25 Question Id : 5362281104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers 1s

(1) 39 (2) 34
(3) 30 (4) 38
Options :

5362284297. 1
5362284298. 2
5362284299. 3
5362284300. 4

Question Number : 25 Question Id : 5362281104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTq HiHF ST &1 9d 33 | =90 © Oed 931 o 201 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362284297. 1



5362284298. 2
5362284299. 3
5362284300. 4

Question Number : 26 Question Id : 5362281105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥aya syllogism which states the reason for the establishment of
the proposition 1s called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362284301. 1
5362284302. 2
5362284303. 3
5362284304. 4

Question Number : 26 Question Id : 5362281105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

~

1) vl 2 =3
(3) L A (4) 373
Options :

5362284301. 1
5362284302. 2
5362284303. 3
5362284304. 4

Question Number : 27 Question Id : 5362281106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1s
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashrvasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362284305. 1
5362284306. 2
5362284307. 3
5362284308. 4

Question Number : 27 Question Id : 5362281106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"SATRTIIREA Gl 7 FI 9% A 7 | See o fore = ot Ael BT & °F gigd Ban 2, S| R
ATeTTE | 3 T F0 |

=0 9% § eAfeiEd 9 o TRE SeaE i Seoid TR T R

(1) w==uEg (2) ImyAtTE
(3) Aeaig (4) Twg
Options :

5362284305. 1
5362284306. 2
5362284307. 3
5362284308. 4

Question Number : 28 Question Id : 5362281107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List II explains their
description.

List I List IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(IL). (B)-(D), (C)-(IID). (D)-(IV)
(2) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)
(3) (A)-(D). (B)-(ID), (C)-aV). (D)~(III)
(4) (A)-(IV), (B)-(III). (C)-(D. (D)-(II)
Options :

5362284309. 1

5362284310. 2

5362284311.3

5362284312. 4

Question Number : 28 Question Id : 5362281107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A1 i FA1-11 § gafea IS0 G-I 1 97 TR & seams & F@is gei-10 | 336 =amen 4§ T 2 -

gil-I TH-11
(B) w=ATHEw 1) :ﬂﬂﬁj}‘rmuﬁaﬁﬂqmgm:rfm
TFT 371 TH1 g0 BT |
(C) daufaus IID) == AT =0 1 79 2 |
D) =i (Iv) qT:;.'ﬂ'f.q—r'"u%ﬁT‘ﬂ%;ﬂMH%I

= 2 T faweT 8 @ mE I =99 i
1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(D). (B)-(IL), (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(II)

Options :
5362284309. 1
5362284310. 2

5362284311. 3
5362284312. 4

Question Number : 29 Question Id : 5362281108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Assertion (A): Indian Philosophy has been 1ntensely spiritual and has always

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of vision
which stands for the direct immediate and intuitive vision of Reality and

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct
Options :
5362284313. 1
5362284314. 2
5362284315.3
5362284316. 4

Question Number : 29 Question Id : 5362281108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



9 2 o T2 T # ; w AT (A) 3R g F A (R) FE T

FirFeE (A) - TR T T =T § oNeniaE w2 it oo =N B o 1 s g A
SATETHHAT 9§ 1237 T E |

i) L

S THIES 28 1 TAF 7 G997 EH 97 Aghed i WiEa 2 | 8 dagta i A o

Al = |

3”:?'3 ’-Fﬂzﬁ' =+ -'i-IIvIHI'Hh 'E[ ELSIED Ircldnrvm '.l:[ '.q mﬁ%ﬁﬁ I T —Eﬁ- ;

D (@) i ®) T #E E S R), (A) A = = 2
@ (@) #R ®) = T T R). (A) F O = =
(3) (A TE 2w (R) 79 T8 2 |

(4)  (A) TF TE 2 T R) T R
Options :
5362284313. 1
5362284314.2
5362284315.3
5362284316. 4

Question Number : 30 Question Id : 5362281109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy., Nyayva advocates the theory of extrinsic validity of
knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of its

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362284317. 1
5362284318. 2
5362284319. 3
5362284320. 4

Question Number : 30 Question Id : 5362281109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁ$ﬂq%ﬁﬂﬁ%
FoF ([): WA 2909 § =T 79 % a729 3947 1 g4 2 5 W ummEng FE1 S 2

o (1) :  Seats st fafo =i 2fe & A 59 6 sete dua i ands 2)
SUFd HYA F AAE B IR e § H waias 39 I 94

(1) Foq I 3 1L =M1 &t 2 |
(2) Fy I 317 IL =1 o8 981 2 |
(3) A I@# 2 g ua 11 @21 72 2

(4)  wuE Iad 78 2 g o I oF 2

Options :

5362284317. 1
5362284318. 2
5362284319. 3
5362284320. 4

Question Number : 31 Question Id : 5362281110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

(1) File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362284321. 1
5362284322.2
5362284323. 3
5362284324. 4

Question Number : 31 Question Id : 5362281110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATEHETT TFHE, ARF AR UH 9 UF Aeiaiad 4 § e 33 R
(1) IS STel SE (2) TeTEe =
(3) e (4) #A=E
Options :

5362284321. 1
5362284322.2
5362284323. 3
5362284324. 4

Question Number : 32 Question Id : 5362281111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

5362284325. 1
5362284326. 2
5362284327.3
5362284328. 4

Question Number : 32 Question Id : 5362281111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) =iz HAT BT (2) =TSR T ETEAE
(3) T HN wEE (4) T FHRT AFEETT
Options :

53622843251
5362284326.2
5362284327.3
5362284328. 4

Question Number : 33 Question Id : 5362281112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1 Java (2) Block chain
(3) Block code (4) Python
Options :

5362284329. 1
5362284330. 2
5362284331. 3
5362284332. 4

Question Number : 33 Question Id : 5362281112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i > B L e . i = Y & B [ L.y
2l Tl = hF TEieen] 1 TEe e S E

(1) = (2) == =
(3)  ==E WS (4) =
Options :

5362284329. 1
5362284330. 2
5362284331. 3
5362284332. 4

Question Number : 34 Question Id : 5362281113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of our
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362284333. 1
5362284334.2
5362284335.3
5362284336. 4

Question Number : 34 Question Id : 5362281113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= = e By E

wo (1) : 202 =1 1 Ha 951 ATER 7 A0 97 291 S99 1 Hecadol S 94 T4 |
e (1) : HTML U Ag0 H7S T & 1 T g1 98 95 S 999 55T 7 |
T FHAA F AT A AR [FHeT §H FA I

(1)  FFEIAR I 74 2 |

(2 FFEIAIZA =4z |

(8) v\ @ 2 fohg e I 7Terd 7 |

(4)  FF I 3mca 2 g wom L& 2|

Options :

5362284333. 1

5362284334.2

5362284335.3
5362284336. 4

Question Number : 35 Question Id : 5362281114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362284337. 1
5362284338.2
5362284339. 3



5362284340. 4

Question Number : 35 Question Id : 5362281114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CPS fi=iferfiga § o g ofiqea =g 27
(1) g T0H AR
(2)  THIA THH BRI

(38) == THiaFa givedsw

(4)  wEw THEFa Tem

Options :

5362284337. 1
5362284338.2
5362284339. 3
5362284340. 4

Question Number : 36 Question Id : 5362281115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C). (D) and (E) only
(3)  (A). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362284341. 1



5362284342.2
5362284343.3
5362284344. 4

Question Number : 36 Question Id : 5362281115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAfefad § ¥ FF F F99E [T i Seafed FEl gzt o ares O 557
) Y Hel T e

(C) U =l THAT F [0 T 72 Faor
(D) AT WEERA

o

H= T ™ et 8 @ wE T g
(1) F== (A), (B) 3 (B) (2) F= (A), (O). (D) ¥ (E)
(3) = (A), (C) ¥ (E) (4) == (B), (C). (D) 37 (E)

Options :

5362284341. 1
5362284342.2
5362284343. 3
5362284344. 4

Question Number : 37 Question Id : 5362281116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362284345. 1
5362284346. 2
5362284347.3
5362284348. 4

Question Number : 37 Question Id : 5362281116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafefga 9 @ = 4 @57 gad fasm @& 4 wfas 27

(A)  FE, TEER AR AGEEA
(B) =i = Tomw 3= o

(C)  =/@grar § =i

(D)  =%F 9T FA F e 'EEreE
(E) w=== a4

(D F= (A). (B). (O) T (D) (2) = (A), (C) =R (D)
(3)  Fa= (A), (B). (C) 3 (E) (4) Fa= (B). (C). (D) 31 (E)

Options :
5362284345. 1
5362284346.2



5362284347.3
5362284348. 4

Question Number : 38 Question Id : 5362281117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in increasing order of their installed capacities of wind
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

1) O<®<0)<® <@ @ O@<®<® <0 <@
(3) (D) =B) <((E)<(C)=(A) 4y (E)<(D)<(B)<(C)<(A)
Options :

5362284349. 1
5362284350. 2
5362284351. 3
5362284352. 4

Question Number : 38 Question Id : 5362281117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 Tam et $1 geurug agar (2018 F1 foufd & 99ER) % §ed %9 9 7

@  =m

(B)  und

(C) 4T

D) %=

(E) =

< fot m foet 9 A A 3 R

1) DM=<E=(C)=B) <@ 2) D) <(E)<B)<(C)<®)

3B D=B=<E=0C=A 4) (E)=[D)=@B)=(C)=@A)
Options :

5362284349. 1
5362284350. 2
5362284351.3
5362284352. 4

Question Number : 39 Question Id : 5362281118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Sunlight 1s a pre-requisite for the formation of photochemical smog in urban
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summer
seasons 1n urban areas of India.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement Il 1s true
Options :

5362284353. 1



5362284354.2
5362284355. 3
5362284356. 4

Question Number : 39 Question Id : 5362281118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wuA (I): 9= &l § e TEEEE - o A % e gd w wee v gaia # |

FA (D) : TFEEIEENT H-FET GG & TE] & § Wawe o dEE § an-an w6 A
r,:ré..|

IUF FYAT % AR ° ARG Ao § @ wE I o
(1) = [ IL3MT 541 & |

(2) FHF 1A 24 =4 & |

(3) U= L@ = g A 11 7em = |

(4) w35 2 g o LT 2|

Options :

5362284353. 1

5362284354. 2

5362284355. 3
5362284356. 4

Question Number : 40 Question Id : 5362281119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

5362284357. 1

5362284358. 2

5362284359. 3
5362284360. 4

Question Number : 40 Question Id : 5362281119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Fr=r 21 A fau e 2 TR O w1 Al (A) AR g6 # 9 (R) FaE T R

HITRT (A) : ZorhT © =t 100 =91 = HA- 310 TEEEUe 3 01 =8E 19 & w1 i dfvas am
4 gfg Fa AT amar § wF ST B T E
% (R) : F2 AiaT28 TG1 1 STl He S13 SA9E1ss i 9o 3 HH w6l F |

1) (&) R ®) A T F @ R). A) F 7 ==
@ Q) i ®) 3 T E e R), (A) F A e T
@) (@ ®) T R
(49 (AT FE 2w (R) T 2
Options :
5362284357 1
5362284358. 2

5362284359. 3
5362284360. 4

Question Number : 41 Question Id : 5362281120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Teacher-Education 1nstitutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362284361. 1
5362284362. 2
5362284363. 3
5362284364. 4



Question Number : 41 Question Id : 5362281120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Torerer—foreror oo Fstafag o 4 feg ol § o 27

(1)  TH-ugi (2) TFAT
(3) =THETE (4) =Hrore AT
Options :

5362284361. 1
5362284362. 2
5362284363. 3
5362284364. 4

Question Number : 42 Question Id : 5362281121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Universities of Nalanda. Taxsila and Vikramshila of ancient India are now
all located 1n the Indian Territory.

Statement IT: The entrance test of 1its own kind was prevalent 1n the ancient seats of
learning of India.

In the light of the above statements. choose the most appropriate answer from the options
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement Il 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362284365. 1
5362284366. 2



5362284367. 3
5362284368. 4

Question Number : 42 Question Id : 5362281121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 2 T T E

FoH () :  TEH AR ® AE, q@Een AR [GmaEen & Gvarem gaeE § oW qEdE &9 A
A 7 |

FoF (1) : 97 = = 9187 gl § 997 29 AT TR =R TS0 T0ET 26l o |

ST FHUA F AT § IR Gt 3 F Haiae SugEd I I

(1) oA L #2920 2 |

(2) ¥ I 3R I 2A =96 77 7 |

(3)  wua 14 2 g e I a4 =71 2 |
(4) w1 = 77 7 g FoF L5 7 |

Options :

5362284365. 1
5362284366. 2
5362284367. 3
5362284368. 4

Question Number : 43 Question Id : 5362281122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atal Ranking of higher education institutes and umversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362284369. 1
5362284370. 2
5362284371. 3
5362284372. 4

Question Number : 43 Question Id : 5362281122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

z=a Tove Tt i favatamemt 1 s e fefafan 3 3 fm soeteat & oy 33 27
(1)  difers fasm gEaE

(2) TETER FH FEEal T

(3) 7 furen wfafy

(4)  TEEEIE = O GURUE Tgaa F Taed

Options :

5362284369. 1
5362284370. 2
5362284371.3
5362284372. 4

Question Number : 44 Question Id : 5362281123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362284373. 1
5362284374.2
5362284375. 3
5362284376. 4

Question Number : 44 Question Id : 5362281123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frald U 3evA (HeE ZTHSHE JH SN hiA-H SEEe god ATCHRIed (Aeh-2THsH) § Heiad 7 ¢
A)  FFE

(B) T

(C)  HerEmEa

(D)  FEHITEE

(B) =mam

Fr T ™ foredl 8 5 wE S 9

(1) #== (A) 3R (B) (2) Fa= (B) 31 (C)

(3)  Fa= (C) 3R (D) (4) A (D) 3 (E)

Options :
5362284373. 1
5362284374.2



5362284375.3
5362284376. 4

Question Number : 45 Question Id : 5362281124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education 1n ancient India was not just acquisition of knowledge as
preparation for life in this world or Iife beyvond schooling but for complete
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_:iing and peace constituted the
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362284377. 1
5362284378.2
5362284379. 3
5362284380. 4

Question Number : 45 Question Id : 5362281124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FA (D) :  THEE 9RA A AeTATE e T Ievd 39 WER 3 e Ava el e F aw & e
F1 T T =g FATET FAT A AR A7 Sk qo7 STen wya o i w1 o)

FoA (II) : WA 12 % SAE 9gaane, SA0E 0 S0 9 Aeeeaas) e i g T\ m w1 9

I9GF FUAT o AT § FiEd e § ¥ Hal I 9

(1) w9 IR D2 8 3 |
(2) w13 I =M1 Tt 2 |
(3)  Fw 1T 2 g #94 I 7Ted 2 |
4 w1 awe ? g =e a8 2 |

Options :

5362284377. 1
5362284378. 2
5362284379. 3
5362284380. 4

Sub-Section Number : 3
Sub-Section Id : 53622845
Question Shuffling Allowed : Yes

Question Id : 5362281125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘'value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative 1imagination of how this can be made possible 1n reality.
Thus, 1t runs the risk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", ete. This could be related to
the comfort-seeking nature of the senses and a part of the vital hife-force that wants to take
the easy way out. If one's core essential concept 1z fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarity that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. This in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ value of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make still or reject those thought formations that
fed by fear'. ‘anxiety’. ‘desire for compromised quicker success’. etc. And if a value or 1deal 1=

not clear. it can reach back to the pure mind for further clarity’.

Sub questions

Question Number : 46 Question Id : 5362281126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience 1n life
Options :

5362284381. 1



5362284382.2
5362284383. 3
5362284384. 4

Question Number : 47 Question Id : 5362281127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B)  past experiences of difficulty
(C) wild imaginations

(D) the inclination to be 1n a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3)  (B)and (C) (4) (C) and (D)
Options :

5362284385. 1
5362284386. 2
5362284387. 3
5362284388. 4

Question Number : 48 Question Id : 5362281128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of Iife

(4) By being fashionable about the core concept of life

Options :

5362284389. 1
5362284390. 2
5362284391. 3
5362284392. 4

Question Number : 49 Question Id : 5362281129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment will

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the very values sought after
Options :

5362284393. 1
5362284394. 2
5362284395.3
5362284396. 4

Question Number : 50 Question Id : 5362281130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Todayv's world 1s not for any value system



Options :

5362284397. 1
5362284398. 2
5362284399. 3
5362284400. 4

Question Id : 5362281125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension

(eATeriiae e 1 SIYEE Tl FN 3HE HTUE T v HeAr 46 9 50 9 o 39 A

‘g —hfrgd BF1 AT Sfiad § THArT 1 SFI9T U A F T BEeaqel 2 : 791, 3@ faEn g ‘geg—ahfed)

31 ‘uftdrs’ 1 Tehfrga FAFUROT F UWE 2| T8 31 2 | 99, T8 3 9 BT geHens Feu 7 6

ST & 6 anarawa § 38 HE WY A 1 56T 2 | SAe 39F 9% § 9 Aihad ? F FE 95 am

O UF S0 =R S A T 90| F % [Gva ¥ qea-dhiegd S9q Hied & | 39 HEr w5 HE e

F WA T 7 Tl 2, WAl God-hiad B % 0T SEA S S0 23 T A1 | S6E e UH] Fare
3 Hfeqd uftgya 21 wd 2 A A d ghm PP w2, 38 SR w2 ar e, Rz A

]
Lt

... ofg | =77 sfga 7 smw = 1 wfa @ metua = R e 39 aEea SfEa-se # 9e R A
ATeHEEF 0 A9 9EdT & | At i =afga 1 gfga oTavas w9unon gidm 2, 91 = FeuEs

E=T W T S TAl B3N SO HAEE W oaEg TR S Al 2| UF YA ¢ T Odiad fhad
oftam’ 7, sEeht TR & A B wew w um: e o g ee it sata & Sl g 1 9 =

feram = qea Figa e i ufam Fi @hfza sEaron % w@9ey 39 fFEr A 5 afE w9 S

[}

AT T WiGd B T H HRAT 2 AR A fEn-FE w fER @ o w2 o

o', i e T F H Fea g TNNA B B | A AR i gew A A T R A 4

3T 23T TI2dr i % foT g 99§ 9199 v5d oA 2 |



Sub questions

Question Number : 46 Question Id : 5362281126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) qe1 T ST Higd H il (2) TehfZa FTUTON F 9T =i |
(3) ar=s fa=mi #i (4) = I

Options :

5362284381. 1
5362284382.2
5362284383. 3
5362284384. 4

Question Number : 47 Question Id : 5362281127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g~ SATITHRA S Fisd 21 7, T2 =R F=ha 4 9 567 7 smanfa 27

(A) Hoa Ffgd sH W
(B) T % FiaT FIAA T

(C) FogE FATST T

(D) W =T H FEfd W

Foretifn & & A fasen =

(1) (A 71 (B) (2) (B) # (D)
(3) (B) 3 (C) (4) (C) #r (D)

Options :

5362284385. 1
5362284386. 2
5362284387. 3
5362284388. 4

Question Number : 48 Question Id : 5362281128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS =ATFT HeA—hirgddl * A1 H FHeT 9= o S A WAl 7 7

(1) =3 Hia- & a1 9§ A7 =9 & oG & G

(2) = O geat F AR ° a=s AN T |
(3) <A = ufEm F =W ° o9 7 |

Options :



5362284389. 1
5362284390. 2
5362284391. 3
5362284392. 4

Question Number : 49 Question Id : 5362281129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HATH - & 0 geg—higd e + 3508 =

(1)  =Ea = AWE | e sem (2) FoATCHT FoTATT 309 F
(3) = S =R W S o (4) FUiE godi H1 SRR 0

Options :

5362284393. 1
5362284394. 2
5362284395. 3
5362284396. 4

Question Number : 50 Question Id : 5362281130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR % oiEE I SATEHYE R Y

(1)  gea-=hfgd e v 310w fa=m 2 |

(2)  HeA—Higaar =1 fagra gt = o0 wF =i afasnte 2 |
(3)  HeA-Tehfrgddl @ HE(4d 3% FH HULTCA® F=ET 6 7 |
(4) A = TEva T goa wonett % fo T8 2 |

Options :

5362284397. 1
5362284398. 2
5362284399. 3
5362284400. 4



PART II Punjabi

Section Id : 53622816
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622846
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WIAS NGHT AEE JOod € (&6 aIE 76:

(1 3= (2) =9
(3) g (4) nf5
Options :

5362284401. 1
5362284402. 2
5362284403. 3
5362284404. 4

Question Number : 51 Question Id : 5362281131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WIAZ MEAS ASS Juad € a8 7= 75:

(1) f&s (2) I3
(3) = (4) nid
Options :

5362284401. 1
5362284402. 2
5362284403. 3
5362284404. 4

Question Number : 52 Question Id : 5362281132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

far niarar & IR fomdst et “nifsfeneste=’ & fAos Ul &=

(1) Haa (2) wifgss Uz
(3) g WA (4) ¥z &8
Options :

5362284405. 1
5362284406. 2
5362284407. 3
5362284408. 4

Question Number : 52 Question Id : 5362281132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

far niarar & IR fomdst et “nifsfeneste=’ & fAos Ul &=

(1) Haa (2) wifgss Uz

(3 g2 T (4) Tz &6



Options :

5362284405. 1
5362284406. 2
5362284407. 3
5362284408. 4

Question Number : 53 Question Id : 5362281133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afe gy 'At g9=t = fouz= g8 O:

(1)  niuggw T fefsora sfea (2) nigEeH T g 5O
(3) faeszIdzee (4) T g 3 B nigTe
Options :

5362284409. 1
5362284410. 2
5362284411.3
5362284412. 4

Question Number : 53 Question Id : 5362281133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afe gy 'At g9=t = fouz= g8 O:

(1)  niuggw T fefsora sfea (2) nigEeH T g 5O
(3) faeszIdzee (4) T g 3 B nigTe
Options :

5362284409. 1
5362284410. 2
5362284411. 3
5362284412. 4



Question Number : 54 Question Id : 5362281134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Afas <t fefsomarat & = @

(1)  wfoz € s9a=sHa 33 = fefsofha ufety
(2) oz € o=, feam, o= 3 Hose = fefsofra ufsuy
(3)  wfosa geo= 3 AT Afagh 2 wiggut usde
(4)  goow/ Aigsare 3 fefsora Aees fev fe@s-du ags
Options :
5362284413. 1
5362284414.2

5362284415.3
5362284416. 4

Question Number : 54 Question Id : 5362281134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Afos &t fefsomardt = = @

(1)  mfo3 ¥ I95=9ng 337 = fefzofam ufsty
(2) oz € o=, feam, o= 2 Hose = fefzofhra ufsuy
(3)  wfosa geo g AT Afaghr 2 wiggdt usue
(4)  goow Afgsare 3 fefsoma Aees fev fe€3-9u auw
Options :
5362284413. 1
5362284414. 2

5362284415.3
5362284416. 4

Question Number : 55 Question Id : 5362281135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

frat o1 fo o< femm Tator O5:

(1) <z=aa, fofs 3fs (2) =5 oy, ud
(3)  ufgd, T=Amar (4) winsghr, Ao Jmfe
Options :

5362284417. 1
5362284418. 2
5362284419.3
5362284420. 4

Question Number : 55 Question Id : 5362281135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frat g1 feo a9t ferm T2hor o5

(1) ==a, fofs 3f= (2) =3 niydt, uS
(3) ufgs, == (4) wiFshr, Ao dRfe
Options :

5362284417. 1
5362284418.2
5362284419. 3
5362284420. 4

Question Number : 56 Question Id : 5362281136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘ 3Z A%'H 3T BT &t Ual’ ¥ AEg faodt @9 5% 97

(1) H&'g &t T79 Hoo" 3 (2) THIS &t T Howr 4
(3)  FEar & TF HOT 4 4) sEFAStTeHTT 5
Options :

5362284421. 1
5362284422.2
5362284423. 3
5362284424. 4

Question Number : 56 Question Id : 5362281136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘ 3TF G®H IOT HEET &l U5l ¥ AEY f59S 219 5% 97

(1) H&'g &t T79 Hoo" 3 (2) THIST St T Howr 4
(3)  AEa &t TF HOT 4 4) sEAST{ITTHTT S
Options :

5362284421. 1
5362284422.2
5362284423.3
5362284424. 4

Question Number : 57 Question Id : 5362281137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

% AT € 395 € MY JUST T4

(1) aret, Alggst, AS (2) =9Hg, Alggel, AES
(3)  Ftoset, RE, aret (4) So=T, aet, Aaget



Options :

5362284425. 1
5362284426. 2
5362284427.3
5362284428. 4

Question Number : 57 Question Id : 5362281137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

% AT € 395 € MY JUST T4

(1) aret, Alggel, A (2) =9Hg, Alggel, AES

(3)  Ftoset, RE, aret (4) So=T, aet, Aaget
Options :

5362284425. 1
5362284426. 2
5362284427. 3
5362284428. 4

Question Number : 58 Question Id : 5362281138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ferar &t avE ugs = fegre faos Bt &=t = 97

(1) ©9ITAS (2) =@ AT
(3) H®IB Y (4) »Ft Ieg
Options :

5362284429. 1
5362284430. 2
5362284431. 3
5362284432. 4



Question Number : 58 Question Id : 5362281138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fera &t avE ugs w fegre faos get o=t = 397

(1) HITAS (2) =G ET
(3) HBS®EY (4) it IEs
Options :

5362284429. 1
5362284430. 2
5362284431.3
5362284432. 4

Question Number : 59 Question Id : 5362281139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

iw & foR ‘fHea-mfog’ &9 gus Tues = AWTRE 395 T

(1) g T EG 5T I (2) fouast »i2 AHH o o998
(3) mrfoaT & ge=TET (4) foaws 7 g3t
Options :

5362284433. 1
5362284434.2
5362284435. 3
5362284436. 4

Question Number : 59 Question Id : 5362281139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i 2 iR ‘fiew-mfoe’ 9 g0 Tue9s & AMfAa 395 T

(1) g T EG 5T O (2) fowE=t mi=E ANH T 2a98
(3) Afger €t g<eTEt (4) foAH3 7 gt
Options :

5362284433. 1
5362284434.2
5362284435.3
5362284436. 4

Question Number : 60 Question Id : 5362281140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATt 2 F9-Aaea fEfr = At T 9

(1) BH-HAD, BB-THWST (2) GFRE-g& , Fro-gfaaH
(3) Y A3, Ygs T3 (4) TdlEE I, Hig-ggo=
Options :

5362284437. 1
5362284438. 2
5362284439. 3
5362284440. 4

Question Number : 60 Question Id : 5362281140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At @ F9-Aasa a2 At 2991 9
(1) BHT-HAG, B5H-THEST (2) GFR=-g&Y , Fro-gfoaH
(3) U FAS, Y95 T3 (4) TdtEE I, Higt-geo=



Options :

5362284437. 1
5362284438. 2
5362284439. 3
5362284440. 4

Question Number : 61 Question Id : 5362281141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ofg =H=9 5% REO=S 33
(1) =< g, St 8y s, Ay
(2) 79 € AU B35, 9% = HT 99, ¥ &

(3) g=dt UATHt, Hfost a5t 5% 375 &t yeers, UR uie
(4) @z <t 75, miost, fomat e

Options :

5362284441. 1
5362284442.2
5362284443. 3
5362284444. 4

Question Number : 61 Question Id : 5362281141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ofs =H=9 &% REO=T 33
(1) oI5 22, Tiat §u I, Ay
(2) 79 € AU B35, 95 @ HsT 99=, §S &

(3)  a=dt Unrdt, Hfast &=t o 9% & yeErs, UR Ui
(4) @3z & 791, AfoSt, fomat 22

Options :



5362284441. 1
5362284442.2
5362284443.3
5362284444. 4

Question Number : 62 Question Id : 5362281142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘g gy’ foam feus = faAas O

(1) AR & (2) HIHE geT gHIST
(3) frees-G (4) foms fAu »rfsg
Options :

5362284445. 1
5362284446. 2
5362284447.3
5362284448. 4

Question Number : 62 Question Id : 5362281142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘g A’ far feuz o faAams O

(1) e &t (2) HIHE g AT
(3) foues-G (4) foms fiur »rfae
Options :

5362284445. 1
5362284446. 2
5362284447. 3
5362284448. 4

Question Number : 63 Question Id : 5362281143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
fagsi=a A feg 99 o° Hoast T9sa 39U Ta:

(1) AT, USST, ygHey (2) A, RS, T
(3) UIST, JUSEHT, I (4) IfozaHr, Ara, At
Options :

5362284449. 1
5362284450. 2
5362284451. 3
5362284452. 4

Question Number : 63 Question Id : 5362281143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fagssa A9t feg 99 o° Hoast Te93a gy 75

(1) AT, USSl, UgH9e (2) Fnt, HAS, T
(3) UFdl, JOSEHT, I (4) dfgssHr, A9, At
Options :

5362284449. 1
5362284450. 2
5362284451.3
5362284452. 4

Question Number : 64 Question Id : 5362281144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hoar@t UATHt @93 St B8 T UdTEl 9957 Mot aTEt 9

(1) U= ASH AL (2) et T8 TH AHS At
(3)  Fet fHog=s T8 AGH Andt (4) fearert Ho3H
Options :

5362284453. 1
5362284454. 2
5362284455.3
5362284456. 4

Question Number : 64 Question Id : 5362281144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hoar@t UATet 93 &t A9 3 USal 9957 Hat a1Et 9

(1) U9Ss A6H AT (2) I8t T TH AHG At
(3) Ao fioges T8 754 At (4) fear=mt Ho=H
Options :

5362284453. 1
5362284454. 2
5362284455.3
5362284456. 4

Question Number : 65 Question Id : 5362281145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) fuss 773, yAa3<t HSl, AE-YRAT
(2) fegstz, ferdne, Re-fig
(3) fig, aousT, AR-ASur
(4)  Fugm, u=e f93s, AEas
Options :
5362284457. 1
5362284458.2

5362284459. 3
5362284460. 4

Question Number : 65 Question Id : 5362281145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A2-witedt gu & wisedt 33 7

(1) fuss 773, yAS3dt HSl, Ae-YRAT
(2) fegstz, ferdne, Re-fig
(3) fig, awus, FR-AoWr
(4) RugR, U39 935, AEus
Options :
5362284457. 1
5362284458.2

5362284459. 3
5362284460. 4

Question Number : 66 Question Id : 5362281146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fif. 3w fiw & T3 79! € HY 31 95

(1) Ffofsasr, fefzofrasT, FA=HasT

(2)  "pE® AEE-9%, AW fRersT, yaeged Aot
(3) guE9ad fFa3r, FuH 8, U9-<5

(4) fonive=vas, fonfar yossr, AeeasHasT
Options :

5362284461. 1
5362284462. 2
5362284463. 3
5362284464. 4

Question Number : 66 Question Id : 5362281146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fif, 3w ffw &t T9== 79 € HY 31 95

(1) rfafsasT, fefsofrasT, aAsHasT

(2)  W5g® AEE-IE, AHA fAansT, Hoe9eg A6t

(3) U9 fFa3r, FuH &, I9-<5
(4)  fonive=vas, foniar yossr, ARes=HaEET
Options :

5362284461. 1
5362284462. 2
5362284463. 3
5362284464. 4

Question Number : 67 Question Id : 5362281147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



afssws fiw ¥ afea feam 2 Wy fig O5:

(1) Ji=zasT, THeadt, afe &2 3957 (2) yarst, y&ar, IR
(3)  nnpifem, 7 A3, &t (4) FHarst, ferarst, fesa
Options :

5362284465. 1
5362284466. 2
5362284467. 3
5362284468. 4

Question Number : 67 Question Id : 5362281147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afgsws fiw ¥ arfea feam & Wy filg os:

(1) Jit=zasT, THeadt, dle &' 3957 (2) yarst, ywar, Ivw
(3)  nppifem, w9 A3, ©it (4) Harst, ferarst, &S
Options :

5362284465. 1
5362284466. 2
5362284467. 3
5362284468. 4

Question Number : 68 Question Id : 5362281148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AHE®! UFTE! 9IS &1 39 & YHY 39539 T6:
(1) 937 qT9<%, ARfe=q, g9fies 305, foA fesa
(2) 7RSS U924, HOGHIS, 95AIS &9, AdEed M3
(3)  HGHSUS 33, WHIAIS ad US a9, HaAS fees
(4)  T®f<=d AU, TBS", AEIGHIS ASI, HOHTS
Options :
5362284469. 1
5362284470. 2

5362284471. 3
5362284472. 4

Question Number : 68 Question Id : 5362281148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AN UFTE! 918G & 39 & YHY 39539 T6:
(1)  J93W JT9<%", AAfe=d, gafHes 305, fon fesa
(2)  WASS U84, HOGHIS, HEHIS &9, mufees »ifyz
(3)  HGASUS 39, "HIAIS da U'S a9, HoArE fee=
(4)  T®f<Td AU, TBS", AEIGHIS AL, HOHTS
Options :
5362284469. 1
5362284470. 2

5362284471.3
5362284472. 4

Question Number : 69 Question Id : 5362281149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HIHI3 U'3T ¥ a'fe 995" © HY A9a'9 95

(1) HEHt T2, RSS!l H3Y, ASHHET AfgnmaTs
(2) fefsoma ASt, Hr=-3mRT I=5T, SaUTETET 50
(3) Hot dr9=, faaH-fesa, femem-yga
(4) fesaurast Aae, WSHeST, Udsian His<
Options :
5362284473. 1
5362284474. 2

5362284475. 3
5362284476. 4

Question Number : 69 Question Id : 5362281149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HIHIS U'3T O a'fe 995" © HY A9'S 95

(1) HGHT 9F, ASSETET HoOH, ASHHET Rfgnarg
(2) fefsora ASt, 3-8 9307, SaUaEt 50
(3) HoHt d9=, faaH-fesa, femem-y=g
(4) fesaorat Ao, WSHSST, Udsias HIS<
Options :
5362284473. 1
5362284474. 2

5362284475.3
5362284476. 4

Question Number : 70 Question Id : 5362281150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5

(1) Jux, AT AEUS, o1 gU (2) CuH T2, YOS 13, WESaT gors
(3) AEUS §913, Hasiags, Yains gy (4) BHAETE, AN WEAE, UF FEUS

Options :

5362284477. 1
5362284478. 2
5362284479. 3
5362284480. 4

Question Number : 70 Question Id : 5362281150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Jud, AT HEUs, <t 3U (2) GuHs F9I3, AEUS J913, WSad gars
(3) AEUS §913, Hoslaas, Yans gy (4) BHAEE, ANTUT MEAET, UF FEUS
Options :
5362284477. 1
5362284478. 2

5362284479. 3
5362284480. 4



Question Number : 71 Question Id : 5362281151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T feftmr = fagsr g Rt &t T

(1) &a fAw- AEe® (2) ®=3W fAu- &< 3 WY

(3) o=z fAu fegg-yer g0 (4) Hos fAu- Tt Snr g2r
Options :

5362284481. 1
5362284482.2
5362284483. 3
5362284484. 4

Question Number : 71 Question Id : 5362281151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

5 fefimr = fagzr g2 Rt &t T

(1) 5d fAw- Aoes (2) =W fAw- &2 3 H3Y

(3) o=z fAu fegg-y=er g0 (4) Hos fAu- Tt Sr gSr
Options :

5362284481. 1
5362284482.2
5362284483. 3
5362284484. 4

Question Number : 72 Question Id : 5362281152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FoE w2 BRT U39 T ROt g2 54t T

(1) 53 oEls- fHfFm »rée (2) wI=- R
(3) oW Btgr- IH fimrdt (4) IB-IT- AE
Options :

5362284485. 1
5362284486. 2
5362284487. 3
5362284488. 4

Question Number : 72 Question Id : 5362281152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FTEt w3 BRT U39 T At 6 &4t 9

(1) 53 oets- fufie wae (2) == WH
(3)  ¥H Bgr- IH fimrdt (4) IB-IT- AF
Options :

5362284485. 1
5362284486. 2
5362284487. 3
5362284488. 4

Question Number : 73 Question Id : 5362281153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fam a=w feg 1947 nwiger Uime &t 5 T ufow @ A5 Uee 3 fosas &t afim &ist O
(1)  =or (2) §9w Ffas
(3) um 4) THEZ

Options :



5362284489. 1
5362284490. 2
5362284491. 3
5362284492. 4

Question Number : 73 Question Id : 5362281153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fom e feg 1947 nmer Urme &t 95 T ufosw ® A5 R 3 fos9s =t afFe &ist 9:

(1)  owr (2) waA gfaz
(3) m (4) aHES
Options :

5362284489. 1
5362284490. 2
5362284491. 3
5362284492. 4

Question Number : 74 Question Id : 5362281154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Afgres fiw Iat migAe ‘fesfas” 3 3= T

(1) getas w2 Aufanr &t fearas (2) Ty dF g9 A
(3) ST 9 g9 AE (4) BB 3 goas feg o B9
Options :

5362284493. 1
5362284494. 2
5362284495. 3
5362284496. 4

Question Number : 74 Question Id : 5362281154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
Afares ffw 3at nigAe ‘fefgs” T 3= T

(1) geias w3 AuUfanr €t fearas (2) TudF g9 AT
(3) S O o9 AE (4) BYS 3 geas feg o B9
Options :

5362284493. 1
5362284494. 2
5362284495. 3
5362284496. 4

Question Number : 75 Question Id : 5362281155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

9379 fiw Tars T 2w ‘fex fAme fise” = quars O

(1) =g-usst e (2) W3 o

(3) AT &Ted 4) fex-ur=dt sve
Options :

5362284497. 1
5362284498. 2
5362284499. 3
5362284500. 4

Question Number : 75 Question Id : 5362281155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) TT-USS e (2) FIZ I
(3) Al 572 (4) feg-u=sdt 525
Options :

5362284497. 1
5362284498. 2
5362284499. 3
5362284500. 4

Question Number : 76 Question Id : 5362281156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IIAH JISEET T o7 ‘2 T 3=’ g9 afas wifhis 395 % Rvifima T

(1)  odt=as i (2) FIH IHTE T9H
(3) MTTHATS 4) =vEE Fum
Options :

5362284501. 1
5362284502. 2
5362284503. 3
5362284504. 4

Question Number : 76 Question Id : 5362281156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ITAH EiEfaet € oex ‘=fnr = #ig’ g9 afas niftis a95 o5 At O
(1)  odt=ws fiw (2) FSH IHT TN
(3) MTTHATS 4) oHER Gus



Options :

5362284501. 1
5362284502. 2
5362284503. 3
5362284504. 4

Question Number : 77 Question Id : 5362281157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘&or fages I91 v Fe-HSE ¥ AAEUR T5:

(1) ga395 A (2) ofées ovs

(3) grar iy (4)  wiFHg A sy
Options :

5362284505. 1
5362284506. 2
5362284507. 3
5362284508. 4

Question Number : 77 Question Id : 5362281157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘&9 fagas 391 HY' F2-HS9 € AREUR 75:

(1) ga995 fAw (2) =feesovs

(3) grar i (4) AT A ey
Options :

5362284505. 1
5362284506. 2
5362284507. 3
5362284508. 4



Question Number : 78 Question Id : 5362281158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A= Rfgaret € &ear & At 52 9

(1) I¥T ®99, 5T (2) vy efonr, zost € 98
(3)  Umet faea, S a= (4) Hfenr Sfewr g37, WA
Options :

5362284509. 1
5362284510. 2
5362284511.3
5362284512. 4

Question Number : 78 Question Id : 5362281158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A= RfgarEt & ear & At 62 9

(1)  3u3 &d9, §F (2) vy =fonr, Tost € 5B
(3)  Ume fogm, 3 &= (4) Hfgnr Sfewr g7, HAS
Options :

5362284509. 1
5362284510. 2
5362284511. 3
5362284512. 4

Question Number : 79 Question Id : 5362281159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SauT HE Ju o9 ARG = faog s 97

(1) AHAE M3 ITHsIS (2) wrafas w3 St
(3) g=a w3 gt (4) FHHEI S I
Options :

5362284513. 1
5362284514.2
5362284515.3
5362284516. 4

Question Number : 79 Question Id : 5362281159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Baue v U fes AAgST = faggr yds 97

(1) AHAE M3 THISE (2) wrsfae w3 St
(3) gga mT At (4) FHHI M3 FER
Options :

5362284513. 1
5362284514.2
5362284515. 3
5362284516. 4

Question Number : 80 Question Id : 5362281160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

sager = faferm=va gu 7:

-

(1) ot o | (2) JIX BT

(3) e 4) = fem=m



Options :

5362284517. 1
5362284518.2
5362284519. 3
5362284520. 4

Question Number : 80 Question Id : 5362281160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BagrgT = fafersa gu 7.

(1) Saz= (2) BIATE
(3) HE 4) @« femrem
Options :

5362284517. 1
5362284518. 2
5362284519.3
5362284520. 4

Question Number : 81 Question Id : 5362281161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Araat’ ot 97

(1) It 3 A ¢ fumes o fex afa

(2) % gEMF 9 °E

(3) fez U&= & we o9 war€= B9 AHiswr AT @

(4) =9t feu <€ 1 dfonr T &UT, 7 €9 € WU 52 T3
Options :

5362284521. 1
5362284522.2



5362284523.3
5362284524. 4

Question Number : 81 Question Id : 5362281161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Aaat’ &t 77

(1) I I Ao € fHEes o fea afo=

(2) % gIm § US

(3) fex ier 7 we oo morSe g3 AMfonr Aer @

(4) =<t feg € o€ dfonr T JUS, 7 TF T v 82 95
Options :

5362284521. 1

5362284522. 2

5362284523.3
5362284524. 4

Question Number : 82 Question Id : 5362281162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

5 foftmr feg oo Rfsnreras fesasg = WY niwr 5ot 9

(1)  Afenremg 2 feamyea ufseass &t 9 RYfoa HEHt Auer gt ¥E Ot 5= Rfgwerg R
(2)  AEfUs &g AfgMTSTg T AUSE JESHA JUSTe

(3)  nwigwrerera ufseass ¥ niS9-AEMS WS © fea T9sor

(4)  HZH AHT gierE BT, AgeeTeT WS AHTEST WGa® AN Afewarea yau & yae fraver
Options :
5362284525. 1

5362284526. 2
5362284527. 3



5362284528. 4

Question Number : 82 Question Id : 5362281162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

5 foftmr feg faosr Rfgnmeras fesas g = Wy iwr 5ot 9

(1)  rAfewrarg @ feaAysa ufseass & AT AYfoa HEHT AWSRE 99T 4& Ot &< AfgMTa'S fRers
(2) AU &g RAfgSTg = AUSZE JESHE JUSTE

(3)  Afenrarswa ufgesss T niS9-HEUS MG & feg T93ar

(4)  HEH AHT Blenel B30, AgesTe W3 AHTES WGaS AHY Afewraraa YHT &t yne freme
Options :

5362284525. 1

5362284526. 2

5362284527.3
5362284528. 4

Question Number : 83 Question Id : 5362281163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

93— Faut IHT Ufges &% AEUS FTHS EF At He J:

(1) oot 3 niaht (2) wStat mT 3his
(3)  FAfgZ mT godt (4) dt=g w3 St
Options :

5362284529. 1
5362284530. 2
5362284531. 3
5362284532. 4

Question Number : 83 Question Id : 5362281163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
93— Faut IFT ufges &% AEUS FTHE 2 At He 9

(1) w&at 3 niadt (2) et mT s
(3)  FRAfgZ mT Zodt (4) dug w3 St
Options :

5362284529. 1
5362284530. 2
5362284531.3
5362284532. 4

Question Number : 84 Question Id : 5362281164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ft.gt. ffur »igRe Jowndt fdt = feam fam ferdt T Sfer 07

(1) HaHEaT (2) Zadt
(3) Wag Fargt (4) fegaat @it
Options :

5362284533. 1
5362284534.2
5362284535.3
5362284536. 4

Question Number : 84 Question Id : 5362281164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ft.gt. ffur »igRe Jowndt fdt = feam fam ferdt T Sfer 07
(1) HIHST (2) ZEdt
(3) Wag Fargt (4) fegaat @it



Options :

5362284533. 1
5362284534.2
5362284535. 3
5362284536. 4

Question Number : 85 Question Id : 5362281165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

aag 3 fegast @ 52 o wOe O

(1) =& &t niegat garg (2) =T T TASHI TIA
(3) =T fegs (4) =& & et
Options :

5362284537. 1
5362284538. 2
5362284539. 3
5362284540. 4

Question Number : 85 Question Id : 5362281165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fag 3 fegast @ 52 o wore O

(1) = &t niegat gors (2) T T TASHI TIA
(3) == fegs (4) =& o et
Options :

5362284537. 1
5362284538. 2
5362284539. 3
5362284540. 4



Question Number : 86 Question Id : 5362281166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Tg & was fex T T09 asw (levels)3 g9t T w3 fex ugss &t 5539 on & gE39 T FuH 77

Fus far s fefamrst = 7
(1) A, TetaEaa (2) #3. 8 ifsw
(3)  <Idte-T-AAGe (4) BH SHFG
Options :

5362284541. 1
5362284542.2
5362284543.3
5362284544. 4

Question Number : 86 Question Id : 5362281166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Tg & was feg T T09 aosw (levels)3 g9t T »i fex ugsw &t 5539 on & gE39 T fuH 77

Fus far = fefimrst = 97
(1) q. TEtaaaT (2) #=s. B ofgm
(3)  <odte-T-AMAGe (4) &H SHFGT
Options :

5362284541. 1
5362284542.2
5362284543.3
5362284544. 4

Question Number : 87 Question Id : 5362281167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UF=THT UATEt Aoz &t fefsorRarst = &H faR &ua & AF 3 =09 arsT 77

(1) sTag i (2) WA,
(3) goo fAw 5=t (4) wAfe=s fAw
Options :

5362284545. 1
5362284546. 2
5362284547.3
5362284548. 4

Question Number : 87 Question Id : 5362281167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UF=THT URTEt Aoz &t fefsorRarst = & far #ya & R¥ 3 =09 &= 97

(1) sraT fiw (2)  wmAt,
(3) gooe fiw &<t (4) wAfe=s fiw
Options :

5362284545. 1
5362284546. 2
5362284547. 3
5362284548. 4

Question Number : 88 Question Id : 5362281168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ngefes YRSE ‘HI TfamsTs- g9 Ufgsr’ = nigefex T
(1)  Jg=umE (2) wgoHs Ry

(3) 9995 59 4) Jtorafese



Options :

5362284549. 1
5362284550. 2
5362284551.3
5362284552. 4

Question Number : 88 Question Id : 5362281168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

METTEs UASE ‘HT TfaASS- 391 Ufgw’ & migeried J:

(1)  Jg=um (2) wgEHs fAw
(3) 9995 359 (4) Ztrrafese
Options :

5362284549. 1
5362284550. 2
5362284551.3
5362284552. 4

Question Number : 89 Question Id : 5362281169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

feegde T YUz AHaEt T o998 ¥ S8 A8 I 0 wifow T

(1)  gorams (2) fa=m= = froey
(3) &y fAasy (4) =@,
Options :

5362284553. 1
5362284554. 2
5362284555.3
5362284556. 4



Question Number : 89 Question Id : 5362281169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fezgde T yrus AHaESt = o999 ¥ S8 RS 3 =0 nifow 3

(1)  goranms (2) fa=m= = froey
(3) By = fAgsy (4) Wa.3.ZAR,
Options :

5362284553. 1
5362284554. 2
5362284555. 3
5362284556. 4

Question Number : 90 Question Id : 5362281170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Aufes fagg feg =9 HR-U3T = oo &= & 3 fedt T
(1) HA-U=9 fFedy, oW U39 3w, fa99 o &, Aued, yoAa 39<, Yo'Hs Fo, Us' 389

(2) HA-UST dud, 4F U39 fAeey, fae o &, Rued, yaAa 397, Yo'HG Fo, UsT 389

(3)  Auww, fagg T &, A-U39 Sya, 4N-U39 (Rady, Yyamd T9<, Ya'As Ko, Uo' 389
(4) 4 U39 Hud, Yo'Aa T997, YA'HG Ao, dH-U39 fAady
Options :

5362284557. 1
5362284558. 2
5362284559. 3
5362284560. 4

Question Number : 90 Question Id : 5362281170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aufes fasre feg o9w 49-US9 & oo o= =t aiF fedt &

(1) HA-U=9 fFedy, oW U39 3w, fa99 o &, Aued, yoAa 39<, Yo'Hs Fo, Us' 389
(2) HA-UST dud, 4F U39 fAeey, fae o &, Rued, yaAa 397, Yo'HG Fo, UsT 389
(3)  Auww, fagg T &, A-U39 Sya, 4N-U39 (Rady, Yyamd T9<, Ya'As Ko, Uo' 389
(4) 4 U39 Hud, Yo'Aa T997, YA'HG Ao, dH-U39 fAady

Options :

5362284557. 1
5362284558. 2
5362284559. 3
5362284560. 4

Question Number : 91 Question Id : 5362281171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tr9 & wifs=rat 52 O5:
(A) EfEr
(B) uBsh
(C) HO=SH

-

(D) HasggE

(E) AOES SEd

75 fou feamur foF Rt feamy 37

(1) (B). (C). (D) (2) (A (B). (D)
(3) (C). (E). (A) 4 (D). (C). (E)
Options :

5362284561. 1



5362284562. 2
5362284563. 3
5362284564. 4

Question Number : 91 Question Id : 5362281171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

9 € nifs=rat 33 75
(A) =fEm
(B)y ugs
(C) HI=H

(D)  HIw=d9E
(E) AUES SEd

75 ot feamy o9 met feasy 95

(1) (B). (C), (D) (2) (A (B). D)
(3) (C). (E). (A) 4 (@), (C). (E)
Options :

5362284561. 1
5362284562. 2
5362284563. 3
5362284564. 4

Question Number : 92 Question Id : 5362281172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5=5 € gUETS € §g4l 33 I5:

(A)  foEm H3Y

(B) ¥g -FSUS
(C) fagz=asr

(D) afeasT

(E) wg9g-a3saT

(1) (A). (B), (C) (2) (B). (O, (E)
(3) (C). (D), (E) 4) (), (A (E)
Options :

5362284565. 1
5362284566. 2
5362284567. 3
5362284568. 4

Question Number : 92 Question Id : 5362281172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5=5 € gUETS € §g4l 33 I5:

(A)  foEm H3Y

(B) ¥g -FSUS
(C) fagz=asr

(D) afeasT

(E) wg9g-a3saT

(1) (A). (B), (C) (2) (B). (O, (E)
(3) (C). (D), (E) 4) (), (A (E)
Options :

5362284565. 1
5362284566. 2
5362284567. 3
5362284568. 4

Question Number : 93 Question Id : 5362281173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Bet arfe @ MY AO I5:

(A) UM Fot yg yrust
(B) Tatm=t fegrgasT

(C)  HIme &% fimre

(D) AHWR YfSHeT

(1) (A). (B) (2) (B), (C)

(3) (C), (D) 4) (A). (O
Options :

5362284569. 1
5362284570. 2
5362284571. 3
5362284572. 4

Question Number : 93 Question Id : 5362281173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Bet arfe @ MY AO I5:

(A) UM Fot yg yrust
(B) Tatm=t fegrgasT

(C)  HIme &% fimre

(D) AHWR YfSHeT

(1) (A). (B) (2) (B), (C)

(3) (C), (D) 4) (A). (O
Options :

5362284569. 1
5362284570. 2
5362284571. 3
5362284572. 4

Question Number : 94 Question Id : 5362281174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Bet arfe € iy quEe 95
(A) HEe, A&d, AGJ
(B)  &w<t, 790 H'g, Rigger

(C) €93, AS=3T, del
(D) g3t fosdfs, Aae

75 fou feamu e Aot feamy 37

(1) {A). (B) 2y (B). (O)

(3) (C). (D) @ A D)
Options :

5362284573. 1
5362284574.2
5362284575.3
5362284576. 4

Question Number : 94 Question Id : 5362281174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Bet arfe € iy quEe 95
(A) HEe, A&d, AGJ
(B)  &w<t, 790 H'g, Rigger

(C) €93, AS=3T, del
(D) g3t fosdfs, Aae

75 fou feamu e Aot feamy 37

(1) {A). (B) 2y (B). (O)

(3) (C). (D) @ A D)
Options :

5362284573. 1
5362284574.2
5362284575.3
5362284576. 4

Question Number : 95 Question Id : 5362281175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I9HTE afe 2 WY A9 35
(A)  Afonras yust
(B)  gHES HBAST

(C) oBH foeas

(D) uUHS Y35

(E)  ua= yHusr

75 ot feamu feF Rt feamu 3=

(1) (A). (B). (C) (2) (@), (C), (D)

(3) (A). (C). (D) (4) (B), (D). (E)
Options :

5362284577. 1
5362284578. 2
5362284579. 3
5362284580. 4

Question Number : 95 Question Id : 5362281175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I9HTE afe 2 WY A9 35
(A)  Afonras yust
(B)  gHES HBAST

(C) oBH foeas

(D) uUHS Y35

(E)  ua= yHusr

75 ot feamu feF Rt feamu 3=

(1) (A). (B). (C) (2) (@), (C), (D)

(3) (A). (C). (D) (4) (B), (D). (E)
Options :

5362284577. 1
5362284578. 2
5362284579. 3
5362284580. 4

Question Number : 96 Question Id : 5362281176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



dt9 -3 = forr ==w =< feg fouz =& fomare =t A4t &3t O:

(4) =fIR AT

(B) HOHS

(C) fogar e

(D) wifoHe s

(E) =H=9

75 ok feamy fed fagr Rt @

(1) (A). (B), (C) (2y  (B). (C). (IY
(3) (D). (B). (A) 4) (C). D). (E)
Options :

5362284581. 1
5362284582.2
5362284583. 3
5362284584. 4

Question Number : 96 Question Id : 5362281176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



dt9 -3 = forr ==w =< feg fouz =& fomare =t A4t &3t O:

(4) =fIR AT

(B) HOHS

(C) fogar e

(D) wifoHe s

(E) =H=9

75 ok feamy fed fagr Rt @

(1) (A). (B), (C) (2y  (B). (C). (IY
(3) (D). (B). (A) 4) (C). D). (E)
Options :

5362284581. 1
5362284582.2
5362284583. 3
5362284584. 4

Question Number : 97 Question Id : 5362281177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THH B9 2 faR 75;

(A)  BF WS

(B) ARtUg

(C) AT HOE'S

(D)  HiEr 290w

(E) ©AE 5oy

75 o feamu feo faoar AT @

(1) (A). (B). (C) (2) (B). (C), (D)

(3) (C). (A). (B) (4) (D). (A (O
Options :

5362284585. 1
5362284586. 2
5362284587.3
5362284588. 4

Question Number : 97 Question Id : 5362281177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THH B9 2 faR 75;

(A)  BF WS

(B) ARtUg

(C) AT HOE'S

(D)  HiEr 290w

(E) ©AE 5oy

75 o feamu feo faoar AT @

(1) (A). (B). (C) (2) (B). (C), (D)

(3) (C). (A). (B) (4) (D). (A (O
Options :

5362284585. 1
5362284586. 2
5362284587.3
5362284588. 4

Question Number : 98 Question Id : 5362281178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Tresa gut ¥ Gese T as aH

(A)  FHGHE

(B)  dt=at

(C)y fs=m

(D)  IfgzaH

(E) aufd=g

75 fod feamw foo fagar At @

(1) (D). (A). (B). (C). (E) (2) (A). (D). (C). (B). (E)

(3) (B). (C), (A). (D). (E) (4) (E). (A). (B). (C). (I
Options :

5362284589. 1
5362284590. 2
5362284591. 3
5362284592. 4

Question Number : 98 Question Id : 5362281178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Tresa gut ¥ Gese T as aH

(A)  FHGHE

(B)  dt=at

(C)y fs=m

(D)  IfgzaH

(E) aufd=g

75 fod feamw foo fagar At @

(1) (D). (A). (B). (C). (E) (2) (A). (D). (C). (B). (E)

(3) (B). (C), (A). (D). (E) (4) (E). (A). (B). (C). (I
Options :

5362284589. 1
5362284590. 2
5362284591. 3
5362284592. 4

Question Number : 99 Question Id : 5362281179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘ygst 'T9SE JU 57 AEMS Hud T5:

(A) FA=T¥H
(B) nEE 79

(C) At fugess

(D) *HZ &g

(E) et aggmr

T ot feamy feo faoar AT @

(1) (A). (B (E) 2y (C). (A). (B)
{3) (D). (A). (C) 4 (B).(C). (D
Options :

5362284593. 1
5362284594. 2
5362284595.3
5362284596. 4

Question Number : 99 Question Id : 5362281179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘ygst 'T9SE JU 57 AEMS Hud T5:

(A) FA=T¥H
(B) nEE 79

(C) At fugess

(D) *HZ &g

(E) et aggmr

T ot feamy feo faoar AT @

(1) (A). (B (E) 2y (C). (A). (B)
{3) (D). (A). (C) 4 (B).(C). (D
Options :

5362284593. 1
5362284594. 2
5362284595.3
5362284596. 4

Question Number : 100 Question Id : 5362281180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wrafsa &% = UATET 27934 9957 © N BeE 75
(A) AHAE 3 ofew feBoa

(B) Fusefed o=t

(Cy Buem w3 fasem

(D) usH fsauy diws

75 fou ooy foo faogr Adt @

(1) (B). (D) (2) (A). (D)

(3) (4A). (C) 4y (C)., (D)
Options :

5362284597. 1
5362284598. 2
5362284599. 3
5362284600. 4

Question Number : 100 Question Id : 5362281180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wrafae &% = UATEt 27939 9957 € HY Fes 75
(A) A 3 ofew feBoe

(B) Ruseied g=a=r

(C)y  Buer m= fasem

(D) ueH faaiy di=s

75 fed feamur fes faoe At @

(1) (B). (D) (2) (A). (D)
(3) (A). (C) (4 (C). (D)



Options :

5362284597. 1
5362284598. 2
5362284599. 3
5362284600. 4

Question Number : 101 Question Id : 5362281181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

979 fewsdt arfe oar feg =93 Wy arfe-FarsT 05
(4) fefsors fesw

(B) Y= HmasT

(C) dofemdo

(D)  HIA YuAs

(E)y fonfar-fesosw

T fot feamu foo o AT @

(1) (A). (B). (E) (2) (B). (C). (D)

(3) (A). (O). (E) 4y (C). (D). (E)
Options :

5362284601. 1
5362284602. 2
5362284603. 3
5362284604. 4

Question Number : 101 Question Id : 5362281181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



979 fewsdt arfe oar feg =93 Wy arfe-FarsT 05

(4) fefsors fesw
(B) Y=9 HEaST
(C) 99 femgg

(D)  HIA YuAs
(E) fenfar-fesusm

T fot feamu foo o AT @

(1) (A). (B). (E) (2) (B). (C). (D)

(3) (A). (O). (E) 4y (C). (D). (E)
Options :

5362284601. 1
5362284602. 2
5362284603. 3
5362284604. 4

Question Number : 102 Question Id : 5362281182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g, Hos - arfe 2 feam-3u 2 ¥y ufog @5
(A)  F953 T fexrf

(B) w3 I Quzwas

(C) FHIS T nes

(D) yust I eyrust

(E) waag T 3=-fomrs

75 fou feamy fo faogr AAt @

(1) (A). (B), (E) 2y (BY; (C), (D)

(3) (A). (C), (E) 4 (O, (D). (E)
Options :

5362284605. 1
5362284606. 2
5362284607. 3
5362284608. 4

Question Number : 102 Question Id : 5362281182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g, Hos - arfe 2 feam-3u 2 ¥y ufog @5
(A)  F953 T fexrf

(B) w3 I Quzwas

(C) FHIS T nes

(D) yust I eyrust

(E) waag T 3=-fomrs

75 fou feamy fo faogr AAt @

(1) (A). (B), (E) 2y (BY; (C), (D)

(3) (A). (C), (E) 4 (O, (D). (E)
Options :

5362284605. 1
5362284606. 2
5362284607. 3
5362284608. 4

Question Number : 103 Question Id : 5362281183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



nify3T U=H- arfe & gy yfessnr o5
(A) =TI, ST

(B)  woters fdw, »Hw ®fog

(C)  Hfza fovestere, s=iest oofiasT
(D) & orfex Y=, I3fox yfeast

T fot feamu foo o AT @

(1) (A). (C) (2) (A), (B
(3) (B). (D) 4y (C). (D)
Options :

5362284609. 1
5362284610. 2
5362284611. 3
5362284612. 4

Question Number : 103 Question Id : 5362281183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



nify3T U=H- arfe & gy yfessnr o5
(A) =TI, ST

(B)  woters fdw, »Hw ®fog

(C)  Hfza fovestere, s=iest oofiasT
(D) & orfex Y=, I3fox yfeast

T fot feamu foo o AT @

(1) (A). (C) (2) (A), (B
(3) (B). (D) 4y (C). (D)
Options :

5362284609. 1
5362284610. 2
5362284611. 3
5362284612. 4

Question Number : 104 Question Id : 5362281184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UFSTHT UFTE JTEEE 75

(A) w5, J9, fasges ffw fas

(B) A3y o@lEs, qows ffu 599
(C) FA=95 995, WH, 953

(D)  39AH Siefast, At sfmrsst

5 ot feamu foo faor AT @

(1) (A). (C). (D) (2) (A, (B). (D)

(3) (B). (C). (D) 4y (A, (B). (C)
Options :

5362284613. 1
5362284614.2
5362284615.3
5362284616. 4

Question Number : 104 Question Id : 5362281184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UFSTHT UFTE JTEEE 75

(A) w5, J9, fasges ffw fas

(B) A3y o@lEs, qows ffu 599
(C) FA=95 995, WH, 953

(D)  39AH Siefast, At sfmrsst

5 ot feamu foo faor AT @

(1) (A). (C). (D) (2) (A, (B). (D)

(3) (B). (C). (D) 4y (A, (B). (C)
Options :

5362284613. 1
5362284614.2
5362284615.3
5362284616. 4

Question Number : 105 Question Id : 5362281185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I fou aus foT fauT ags At 7

(A) &=% nET T AfESt T vigse 2t AfESt 33 © Uy o fReas deT T
(B) &% T YU's U39 MEAT FSt-gee ot yfafonr fes suer 31

(C) w=s fea vifadt ao-fast 9, far € fau S9-¥9 € dAtes <99 02 05|

(D) &<% K56 T € YT-HY3'9 &at gt T |

75 ot feasy foF faogr =09 o= J:

(1) (A). (C) (2) (A (B)
(3) (C). (D) 4) (D). (A)
Options :

5362284617. 1
5362284618. 2
5362284619. 3
5362284620. 4

Question Number : 105 Question Id : 5362281185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I fou aus foT fauT ags At 7

(A) &=% nET T AfESt T vigse 2t AfESt 33 © Uy o fReas deT T
(B) &% T YU's U39 MEAT FSt-gee ot yfafonr fes suer 31

(C) w=s fea vifadt ao-fast 9, far € fau S9-¥9 € dAtes <99 02 05|

(D) &<% K56 T € YT-HY3'9 &at gt T |

75 ot feasy foF faogr =09 o= J:

(1) (A). (C) (2) (A (B)
(3) (C). (D) 4) (D). (A)
Options :

5362284617. 1
5362284618. 2
5362284619. 3
5362284620. 4

Question Number : 106 Question Id : 5362281186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



nAHg R wisy 2 srear & &1 9

(A) fea At =fowr

(B) ©R3Fadr

(C)  arat

(D) A3 fmrs

(E)y  umsT

75 ol feamy foo faogT AT @

(1) (A). (B). (©) (2y (B). (C). (D)

(3) (B). (D). (E) 4y (A, (C). (D)
Options :

5362284621. 1
5362284622. 2
5362284623.3
5362284624. 4

Question Number : 106 Question Id : 5362281186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



nAHg R wisy 2 srear & &1 9

(A) fea At =fowr

(B) ©R3Fadr

(C)  arat

(D) A3 fmrs

(E)y  umsT

75 ol feamy foo faogT AT @

(1) (A). (B). (©) (2y (B). (C). (D)

(3) (B). (D). (E) 4y (A, (C). (D)
Options :

5362284621. 1
5362284622. 2
5362284623.3
5362284624. 4

Question Number : 107 Question Id : 5362281187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5. ASIH gH'T 94" MgHAS UAH! oed 29 ot yRsst ¥ 5 uose 99 05

(A) &9t AewoT

(B) &t =%

(C) &t 9=

(D) @aE=

(E) =t ndtss

5 ol feamw fog fagT ROt @

(1) (A). (C). (D) (2) (A). (B). (C)
(3) (B). (C). (D) 4) (O). (D). (E)
Options :

5362284625. 1
5362284626. 2
5362284627. 3
5362284628. 4

Question Number : 107 Question Id : 5362281187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5. ASIH gH'T 94" MgHAS UAH! oed 29 ot yRsst ¥ 5 uose 99 05

(A) &9t AewoT

(B) &t =%

(C) &t 9=

(D) @aE=

(E) =t ndtss

5 ol feamw fog fagT ROt @

(1) (A). (C). (D) (2) (A). (B). (C)
(3) (B). (C). (D) 4) (O). (D). (E)
Options :

5362284625. 1
5362284626. 2
5362284627. 3
5362284628. 4

Question Number : 108 Question Id : 5362281188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aes 99 © 559 5% AaOS 89-53 75:

o]

(A) 3HI

(By  Foft

(C) @t

(D) O9R

5 fou feamur fog faggr At @

(1) (4). (B). (D) (2) (A), (B). (O

(3) (B). (C). (D) @ (A (C), (D)
Options :

5362284629. 1
5362284630. 2
5362284631.3
5362284632. 4

Question Number : 108 Question Id : 5362281188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Aes 99 ¥ femd o'n e &a-579 U5

Ly}

(A) THT

(By it

(C) st

(D) udH

5 ol feamu feg fagr At ©

(1) {A). (B). (D) 2y (A (B). (C)

(3) (B). (C). (D) (4) (A). (O). (D)



Options :

5362284629. 1
5362284630. 2
5362284631. 3
5362284632. 4

Question Number : 109 Question Id : 5362281189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TI=IT S T O3

(A)  ngEt

(B)y fearewmt

(C) FSa-usH

(D) Jofe=

75 fou feamyt o3 fags 93 90 9a=r O

(1) (A). (B). (D) (2) (A (C). (D
(3) (B). (C). (D) (4) (A). (B). (C)
Options :

5362284633. 1
5362284634.2
5362284635. 3
5362284636. 4

Question Number : 109 Question Id : 5362281189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tg3T S T 95

(A)  ngEt

(B)y fearewmt

(C) F=a-usa

(D) Jofe=

75 fou feamyt o3 fags 93 90 9a=r O

(1) (A). (B). (D) (2) (A (C). (D
(3) (B). (C). (D) (4) (A). (B). (C)
Options :

5362284633. 1
5362284634. 2
5362284635. 3
5362284636. 4

Question Number : 110 Question Id : 5362281190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atz &t Afg=t yerfae Uardt € feee93 RS9 9

a4 €
B) fE
c €
(D) nr
(E)y &
(1) (B). (C). (D) (2) (A, D). (C)
(3) (B). (C). (E) 4 (A, (D). (B)
Options :

5362284637. 1
5362284638. 2
5362284639. 3
5362284640. 4

Question Number : 110 Question Id : 5362281190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atz &t Afg=t yerfae Uardt € feee93 RS9 9

a4 €
B) fE
c €
(D) nr
(E)y &
(1) (B). (C). (D) (2) (A, D). (C)
(3) (B). (C). (E) 4 (A, (D). (B)
Options :

5362284637. 1
5362284638. 2
5362284639. 3
5362284640. 4

Question Number : 111 Question Id : 5362281191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faos Aawy ARG € adt 75:
(A)  FA-U9S

(B) AHaE 3 faz@

(C) nizg Ged=-T09 a=as
(D) faae oiwr fomdrz

(E) fearsa-gasa

7s fou feamu fo At €39 9=

(1) (A). (C). (B) 2y (D). (E).A)

(3) (B). (C). (D) (4 (A). (D). (E)
Options :

5362284641. 1
5362284642.2
5362284643. 3
5362284644. 4

Question Number : 111 Question Id : 5362281191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faos Aawy ARG € adt 75:
(A)  FA-U9S

(B) AHaE 3 faz@

(C) nizg Ged=-T09 a=as
(D) faae oiwr fomdrz

(E) fearsa-gasa

7s fou feamu fo At €39 9=

(1) (A). (C). (B) 2y (D). (E).A)

(3) (B). (C). (D) (4 (A). (D). (E)
Options :

5362284641. 1
5362284642.2
5362284643. 3
5362284644. 4

Question Number : 112 Question Id : 5362281192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



7. 5oHe ffu AT »igA AEE-A3 § Adt 995 BE! Jont fmdit fee fagshr seeishr dishr ae:
(A) BISgat SIS

(B) €51 3 3T me =t it g

(C) =3z @i fGgeru=wr

(D) I3 F T YeE

(E) gt & 5 Aot &t =93

(1) (A). (B). (C) (2)  (A). (C). (E)
(3) (B). (D), (E) ) (C), (D). (E)
Options :

5362284645. 1
5362284646. 2
5362284647. 3
5362284648. 4

Question Number : 112 Question Id : 5362281192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



7. 5oHe ffu AT »igA AEE-A3 § Adt 995 BE! Jont fmdit fee fagshr seeishr dishr ae:
(A) BISgat SIS

(B) €51 3 3T me =t it g

(C) =3z @i fGgeru=wr

(D) I3 F T YeE

(E) gt & 5 Aot &t =93

(1) (A). (B). (C) (2)  (A). (C). (E)
(3) (B). (D), (E) ) (C), (D). (E)
Options :

5362284645. 1
5362284646. 2
5362284647. 3
5362284648. 4

Question Number : 113 Question Id : 5362281193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Iz fefimr o3 fagg aus At 75:

(A) R us = fan RSt I fow nigere few wige-Afewremsa Aee 91
(B)  wigee ¥ Afgnrarg ferm ¥ mighwst 3= famaw &t 994t &9t ge 1
(C) 3= nige fog nige=x 3 39& wolE 7 Tode =t ¥y 3=t T

(D)  JUSIE vigee feg nigeexd WUE 98 g3 =t &4t AT ARET

I3 ot feamyr fo3 faog AT =09 S5 O:

(1) (B). (A) (2) (A (D)
(3) (C). (D) 4y (A), (O)
Options :

5362284649. 1
5362284650. 2
5362284651. 3
5362284652. 4

Question Number : 113 Question Id : 5362281193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Iz fefimr o3 fagg aus At 75:

(A) R us = fan RSt I fow nigere few wige-Afewremsa Aee 91
(B)  wigee ¥ Afgnrarg ferm ¥ mighwst 3= famaw &t 994t &9t ge 1
(C) 3= nige fog nige=x 3 39& wolE 7 Tode =t ¥y 3=t T

(D)  JUSIE vigee feg nigeexd WUE 98 g3 =t &4t AT ARET

I3 ot feamyr fo3 faog AT =09 S5 O:

(1) (B). (A) (2) (A (D)
(3) (C). (D) 4y (A), (O)
Options :

5362284649. 1
5362284650. 2
5362284651. 3
5362284652. 4

Question Number : 114 Question Id : 5362281194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



75 feftmr feg’ faos aas =09 €93 0s:

(A)  FHEEl yseH fiE Hiow »refaa aes &dt 96|

(B) AHE® USTH § RHSE ST Af99d AEds § AoE 595 #gat J|
(C) wFHarsl yg=H ¢ fuees fes U7 Aac &t a2t 3fiar odt T

(D)  AHEE USEH T UAE & TRESA feere &% a€t A9Y &t 9|

75 fod feamy fea faog AT =09 Ta= O

(1) (A). (B) (2) (B). (C)
(3) (C). (D) (4) (D). (A)
Options :

5362284653. 1
5362284654. 2
5362284655. 3
5362284656. 4

Question Number : 114 Question Id : 5362281194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



75 feftmr feg’ faos aas =09 €93 0s:

(A)  FHEEl yseH fiE Hiow »refaa aes &dt 96|

(B) AHE® USTH § RHSE ST Af99d AEds § AoE 595 #gat J|
(C) wFHarsl yg=H ¢ fuees fes U7 Aac &t a2t 3fiar odt T

(D)  AHEE USEH T UAE & TRESA feere &% a€t A9Y &t 9|

75 fod feamy fea faog AT =09 Ta= O

(1) (A). (B) (2) (B). (C)
(3) (C). (D) (4) (D). (A)
Options :

5362284653. 1
5362284654. 2
5362284655. 3
5362284656. 4

Question Number : 115 Question Id : 5362281195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faoz aus =u9 s o5

(A)  =g-Afewrargee o §2R fofds ardl w3 Afgwrea AYT' 3 5999 € A YT5 d90 1
(B)  =g- AfgwergeT fo9 fu-ooet AyT 3 firer Gd3T yes S e 9

(C)  =g- Afgwrsrgee Aigwrsrex =2 = gt fex wieera U 1

(D)  =g- Afgwrsrgee fov far & fonadl/myT 3 wWie HTS=USs aat AHfSY Fer |

¥5 fou feamyr foa faoar A9 =09 Ta= O

(1) (A). (D) (2) (B). (C)
(3) (D). (A) (4) (A). (B
Options :

5362284657. 1
5362284658. 2
5362284659. 3
5362284660. 4

Question Number : 115 Question Id : 5362281195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faoz aus =u9 s o5

(A)  =g-Afewrargee o §2R fofds ardl w3 Afgwrea AYT' 3 5999 € A YT5 d90 1
(B)  =g- AfgwergeT fo9 fu-ooet AyT 3 firer Gd3T yes S e 9

(C)  =g- Afgwrsrgee Aigwrsrex =2 = gt fex wieera U 1

(D)  =g- Afgwrsrgee fov far & fonadl/myT 3 wWie HTS=USs aat AHfSY Fer |

¥5 fou feamyr foa faoar A9 =09 Ta= O

(1) (A). (D) (2) (B). (C)
(3) (D). (A) (4) (A). (B
Options :

5362284657. 1
5362284658. 2
5362284659. 3
5362284660. 4

Question Number : 116 Question Id : 5362281196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



7t I = gt 11 578 H&'S &9

F I Bt 11
(A) niST UorSHaES" (I) <% Fes
(B) fifg 3 »aw (I) g@r fgafser
(C) fars 3 Az (III) TS FARITH
(D) e (IV) fies ga
T5 fou feamyr o9 At €39 T

(1) (A)-(IID). (B)-(IV). (C)-(I). (D)-(I1I)
(2) (A)-(I). (B)-(III). (C)-(IV). (D)-(II)
(3) (A)-(IV). (B)-(IL). (C)-(I11I). (D)-(D)
(4) (A)-(IL). (B)-(D. (C)-(IV). (D)-(I1I)

Options :

5362284661. 1

5362284662. 2

5362284663. 3
5362284664. 4

Question Number : 116 Question Id : 5362281196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



7t I = gt 11 578 H&'S &9

F I Bt 11
(A) niST UorSHaES" (I) <% Fes
(B) fifg 3 »aw (I) g@r fgafser
(C) fars 3 Az (III) TS FARITH
(D) e (IV) fies ga
T5 fou feamyr o9 At €39 T

(1) (A)-(IID). (B)-(IV). (C)-(I). (D)-(I1I)
(2) (A)-(I). (B)-(III). (C)-(IV). (D)-(II)
(3) (A)-(IV). (B)-(IL). (C)-(I11I). (D)-(D)
(4) (A)-(IL). (B)-(D. (C)-(IV). (D)-(I1I)

Options :

5362284661. 1

5362284662. 2

5362284663. 3
5362284664. 4

Question Number : 117 Question Id : 5362281197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aet [ = Bt 11 &% A a9

7 I H 11
(4) At Bt afe @' (1) HHES fiw oo
(B) 'HEHT fRBHS w3 A’ (i) JIHIS T Hail
(C) 'wg 3@ migw feadhr Tt 3ot w3 (i) TEa9 fiw @
Ace
(d) '3g F9 Afog &t Aues T (iv) Hfges 39 faim
35 o feamur feg Aot €39 92

(1) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(4) (a)-(aw). (b)-(1). (e)-(11). (d)-(111)

Options :

5362284665. 1
5362284666. 2
5362284667. 3
5362284668. 4

Question Number : 117 Question Id : 5362281197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aet [ = Bt 11 &% A a9

7 I H 11
(4) At Bt afe @' (1) HHES fiw oo
(B) 'HEHT fRBHS w3 A’ (i) JIHIS T Hail
(C) 'wg 3@ migw feadhr Tt 3ot w3 (i) TEa9 fiw @
Ace
(d) '3g F9 Afog &t Aues T (iv) Hfges 39 faim
35 o feamur feg Aot €39 92

(1) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(4) (a)-(aw). (b)-(1). (e)-(11). (d)-(111)

Options :

5362284665. 1
5362284666. 2
5362284667. 3
5362284668. 4

Question Number : 118 Question Id : 5362281198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aet I = gt 1L &% He'S a9:
et I Fet 11
(a) AfgwaTg wig farr afe (1) AfE=g fiw

(b) gt faAr afe = gy fefomrsa nifmis (11) TIHr= fiwr

(c) UndE fdAr-arfe 2 sewe ufely (111) FAfe=T fAw
(d) famr : fAors, fearA 3 nmerst (iv) wwHe fAw st
35 e feamur oo Adt €39 O

(1) (a)-(11). (b)-(1). (¢)-(iid). (d)-(1iv)
(2) (a)-(1m1). (b)-(1). (c)-(1). (d)-(1v)
(3) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

Options :

5362284669. 1
5362284670. 2
5362284671. 3
5362284672. 4

Question Number : 118 Question Id : 5362281198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aet I = gt 1L &% He'S a9:
et I Fet 11
(a) AfgwaTg wig farr afe (1) AfE=g fiw

(b) gt faAr afe = gy fefomrsa nifmis (11) TIHr= fiwr

(c) UndE fdAr-arfe 2 sewe ufely (111) FAfe=T fAw
(d) famr : fAors, fearA 3 nmerst (iv) wwHe fAw st
35 e feamur oo Adt €39 O

(1) (a)-(11). (b)-(1). (¢)-(iid). (d)-(1iv)
(2) (a)-(1m1). (b)-(1). (c)-(1). (d)-(1v)
(3) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

Options :

5362284669. 1
5362284670. 2
5362284671. 3
5362284672. 4

Question Number : 119 Question Id : 5362281199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



7ot [ = gt 1 570 oS &9

7t I Fet 11
(a) AT f5ag (i) =@ A
(b) ¥y fadg (i) 37 fAw
(c) mfofsw fsgg (i) ofges fiw gu
(d) fenfarsna fadm (iv) TT9aum iy
95 fod feamu fos Aot €39

(1) (a)-(11). (b)-(1v). (e)-(111). (d)-(1)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(1). (b)-(111). (c)}-(1v). (d}-(11)
Options :

5362284673. 1

5362284674.2

5362284675.3
5362284676. 4

Question Number : 119 Question Id : 5362281199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



7ot [ = gt 1 570 oS &9

7t I Fet 11
(a) AT f5ag (i) =@ A
(b) ¥y fadg (i) 37 fAw
(c) mfofsw fsgg (i) ofges fiw gu
(d) fenfarsna fadm (iv) TT9aum iy
95 fod feamu fos Aot €39

(1) (a)-(11). (b)-(1v). (e)-(111). (d)-(1)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(1). (b)-(111). (c)}-(1v). (d}-(11)
Options :

5362284673. 1

5362284674.2

5362284675.3
5362284676. 4

Question Number : 120 Question Id : 5362281200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot [ = 5t 11 5% HoS d9:

At I At 11
(a) AOIREIE (1) rifsor, sameE, foniasr
(b) wHEE HESt (i) €uns 3 Guiw &t feafias
(c) feI=s (i11) wfoge & nEesr
(dy Fu=x (iv) =fenr 3 59 v foam
7o fed fag faoe At

(1) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(12). (e)-(1). (d)-(111)
(3) {a)-(111). (b)-(1). (c)-(1v). (d)-(11)

(4) (a)-(1). (b)-(11), (e)-(111), (d)-(1v)

Options :

5362284677. 1
5362284678. 2
5362284679. 3
5362284680. 4

Question Number : 120 Question Id : 5362281200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot [ = 5t 11 5% HoS d9:

At I At 11
(a) AOIREIE (1) rifsor, sameE, foniasr
(b) wHEE HESt (i) €uns 3 Guiw &t feafias
(c) feI=s (i11) wfoge & nEesr
(dy Fu=x (iv) =fenr 3 59 v foam
7o fed fag faoe At

(1) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(12). (e)-(1). (d)-(111)
(3) {a)-(111). (b)-(1). (c)-(1v). (d)-(11)

(4) (a)-(1). (b)-(11), (e)-(111), (d)-(1v)

Options :

5362284677. 1
5362284678. 2
5362284679. 3
5362284680. 4

Question Number : 121 Question Id : 5362281201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot I = 5t 1L 576 H&S d9:

met | met 11
(a) vRAfe=s R i) Gustae
(b) =Fe= fAu oBes (1) G=Hmmr
(c) Hfges T (111) YA iy = 4y
(d)y wwHe fig (iv) wF = 7
75 o feamut o3 At €33 35
(1) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

(4) (a)-(11). (b)-(111). (e)-(1v). (d)-(2)

Options :

5362284681. 1
5362284682. 2
5362284683. 3
5362284684. 4

Question Number : 121 Question Id : 5362281201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot I = 5t 1L 576 H&S d9:

met | met 11
(a) vRAfe=s R i) Gustae
(b) =Fe= fAu oBes (1) G=Hmmr
(c) Hfges T (111) YA iy = 4y
(d)y wwHe fig (iv) wF = 7
75 o feamut o3 At €33 35
(1) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

(4) (a)-(11). (b)-(111). (e)-(1v). (d)-(2)

Options :

5362284681. 1
5362284682. 2
5362284683. 3
5362284684. 4

Question Number : 122 Question Id : 5362281202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot [ = 5t 11 5% HoS 9.

gt 1 gt 11
(a) =T (1) HetgT daos
(h) frawsT (1) WIHAETE
(c) 959 959 (111) F&Y BT AfonS
(d) o=F e uAr (iv) ust gfires fifw
J5 fod feamy oo At €39 fage O

(1) (a)-(11). (b)-(xv). (e)-(1). (d)-(111)
(2) (a)-(1). (b)-(111). (e)-(11). (d)-(1v)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)

(4) (a)-(11). (b)-(1). (¢)-(1v). (d)-(11)

Options :

5362284685. 1
5362284686. 2
5362284687. 3
5362284688. 4

Question Number : 122 Question Id : 5362281202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot [ = 5t 11 5% HoS 9.

gt 1 gt 11
(a) =T (1) HetgT daos
(h) frawsT (1) WIHAETE
(c) 959 959 (111) F&Y BT AfonS
(d) o=F e uAr (iv) ust gfires fifw
J5 fod feamy oo At €39 fage O

(1) (a)-(11). (b)-(xv). (e)-(1). (d)-(111)
(2) (a)-(1). (b)-(111). (e)-(11). (d)-(1v)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)

(4) (a)-(11). (b)-(1). (¢)-(1v). (d)-(11)

Options :

5362284685. 1
5362284686. 2
5362284687. 3
5362284688. 4

Question Number : 123 Question Id : 5362281203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot [ =7 gt 11 5% HoS d9:

gt I gt 11
(a) wififT iz (i) afewrE ¥ 3R aits
(b) nfges fiu Fo&t (i1) aIrger uwe
() wiges fiu Jo=r (ii1) Uee St nrea
(d) FHER Hreudt (iv) Ure € & 9t
75 b feamu fog Aot €39 fage G-

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(11), (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(4) (a)-(1). (b)-(11). (c)-(11). (d)-(v)

Options :

5362284689. 1
5362284690. 2
5362284691. 3
5362284692. 4

Question Number : 123 Question Id : 5362281203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot [ =7 gt 11 5% HoS d9:

gt I gt 11
(a) wififT iz (i) afewrE ¥ 3R aits
(b) nfges fiu Fo&t (i1) aIrger uwe
() wiges fiu Jo=r (ii1) Uee St nrea
(d) FHER Hreudt (iv) Ure € & 9t
75 b feamu fog Aot €39 fage G-

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(11), (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(4) (a)-(1). (b)-(11). (c)-(11). (d)-(v)

Options :

5362284689. 1
5362284690. 2
5362284691. 3
5362284692. 4

Question Number : 124 Question Id : 5362281204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot I = 5t 1L 576 HES d9:

At et 11
(a) T3 A fifs 3 oots (1) Sfaet-ysIst SusTHEr
(b) =w=tg fAw Ay (i) At fenrags
(c) i, , I&ERS (111) Yot GuzET
(d) .2 AfiTa= (iv) F'HEl AI<HE
I3 fou feamy fod Rat €39 O

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(11). (b)-(111). (¢)-(1v). (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options :

5362284693. 1
5362284694. 2
5362284695. 3
5362284696. 4

Question Number : 124 Question Id : 5362281204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Aot I = 5t 1L 576 HES d9:

At et 11
(a) T3 A fifs 3 oots (1) Sfaet-ysIst SusTHEr
(b) =w=tg fAw Ay (i) At fenrags
(c) i, , I&ERS (111) Yot GuzET
(d) .2 AfiTa= (iv) F'HEl AI<HE
I3 fou feamy fod Rat €39 O

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(11). (b)-(111). (¢)-(1v). (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options :

5362284693. 1
5362284694. 2
5362284695. 3
5362284696. 4

Question Number : 125 Question Id : 5362281205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



79t [ =7 5t 11 5% HE J9:

Fat I At 11
(a) ®ATIS MAH gt 1) (& usa
(b)  nirfERT niASH (i) sIIaT>
(c) TIBH AT=T (i) Iz fom ofemr
(d) wEter famy (iv) 3% TEEmi Stea

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(1m1). (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111), (d)-(1)

Options :

5362284697. 1
5362284698. 2
5362284699. 3
5362284700. 4

Question Number : 125 Question Id : 5362281205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



79t [ =7 5t 11 5% HE J9:

Fat I At 11
(a) ®ATIS MAH gt 1) (& usa
(b)  nirfERT niASH (i) sIIaT>
(c) TIBH AT=T (i) Iz fom ofemr
(d) wEter famy (iv) 3% TEEmi Stea

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(1m1). (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111), (d)-(1)

Options :

5362284697. 1
5362284698. 2
5362284699. 3
5362284700. 4

Question Number : 126 Question Id : 5362281206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At ¥ Afos-fefsoRast oAt B gH @
(A)  =59Ht TR #5
(B) = fAw Ais®
(C) Ao 54H gHST
(D) ¥os fAw feesr
(E) uoHus fHam

(1) (A), (C), (B), (E). (D) (2) (O). (D). (A). (B). (E)
(3) (B). (A). (C). (E). (D) (4) (D). (C). (E), (B). (A)
Options :

5362284701. 1
5362284702. 2
5362284703. 3
5362284704. 4

Question Number : 126 Question Id : 5362281206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At ¥ Afos-fefsoRast oAt B gH @
(A)  =59Ht TR #5
(B) = fAw Ais®
(C) Ao 54H gHST
(D) ¥os fAw feesr
(E) uoHus fHam

(1) (A), (C), (B), (E). (D) (2) (O). (D). (A). (B). (E)
(3) (B). (A). (C). (E). (D) (4) (D). (C). (E), (B). (A)
Options :

5362284701. 1
5362284702. 2
5362284703. 3
5362284704. 4

Question Number : 127 Question Id : 5362281207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a9 39 Afog ¥ Tt St T gH MEAT I9SE
(A) 955 e

(B) 9= AEw

(C) TF Iws &=

(D) T "HT TH

¥ ol feamu fo5 Aot €39 95

(1) (A). (B). (D), (C) (2) (C). (A). (B). (D)
(3) (B). (A). (D). (C) (4) (A). (C). (B). (D)
Options :

5362284705. 1
5362284706. 2
5362284707. 3
5362284708. 4

Question Number : 127 Question Id : 5362281207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a9 39 Afog ¥ Tt St T gH MEAT I9SE
(A) 955 e

(B) 9= AEw

(C) TF Iws &=

(D) T "HT TH

¥ ol feamu fo5 Aot €39 95

(1) (A). (B). (D), (C) (2) (C). (A). (B). (D)
(3) (B). (A). (D). (C) (4) (A). (C). (B). (D)
Options :

5362284705. 1
5362284706. 2
5362284707. 3
5362284708. 4

Question Number : 128 Question Id : 5362281208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At fdfimr €t At 3@ giva 3991 9

(A)  fyoa mrfow

(B) wH=-g&Y

(C) dwI=T

(D) FAARYG

(1) (A), (B). (D). (C) (2) (C). (A). (B). (D)
(3) (B). (C). (D). (A) 4y (C). (A), (D). (B)
Options :

5362284709. 1
5362284710. 2
5362284711.3
5362284712. 4

Question Number : 128 Question Id : 5362281208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At fdfimr €t At 3@ giva 3991 9

(A)  fyoa mrfow

(B) wH=-g&Y

(C) dwI=T

(D) FAARYG

(1) (A), (B). (D). (C) (2) (C). (A). (B). (D)
(3) (B). (C). (D). (A) 4y (C). (A), (D). (B)
Options :

5362284709. 1
5362284710. 2
5362284711.3
5362284712. 4

Question Number : 129 Question Id : 5362281209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Tosa guT € §esw T awaH

(A)  FSHAH

(B)  i=at

(C) fadu

(D)  afozs™H

(E) 3w fdse

I3 fed feamyr fog At €39 38+

(1) (D). (B). (A), (C). (E)
(2) (A). (D). (C). (B). (E)
(3 (B). (D). (E). (C). (&)

(4) (C). (A). (D), (E). (B)

Options :

5362284713. 1
5362284714.2
5362284715. 3
5362284716. 4

Question Number : 129 Question Id : 5362281209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At Tosa guT € §esw T awaH

(A)  FSHAH

(B)  i=at

(C) fadu

(D)  afozs™H

(E) 3w fdse

I3 fed feamyr fog At €39 38+

(1) (D). (B). (A), (C). (E)
(2) (A). (D). (C). (B). (E)
(3 (B). (D). (E). (C). (&)

(4) (C). (A). (D), (E). (B)

Options :

5362284713. 1
5362284714.2
5362284715. 3
5362284716. 4

Question Number : 130 Question Id : 5362281210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wrgfaa At anfe oot & W 3 feam o a® g

(A)  FrareTEl

(B)  yarSteret

(C)  g99 feesat

(D)  YoETHS

(E) =fes fordt

J5 e feamy fov Rt €39 98 -

(1) (D). (B). (E). (A). (C)
(2) (A). (C). (D). (E). (B)
(3) (C). (B). (D). (A). (E)

(4) (B). (D), (C). (4). (E)

Options :

5362284717. 1
5362284718.2
5362284719. 3
5362284720. 4

Question Number : 130 Question Id : 5362281210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wrgfaa At anfe oot & W 3 feam o a® g

(A)  FrareTEl

(B)  yarSteret

(C)  g99 feesat

(D)  YoETHS

(E) =fes fordt

J5 e feamy fov Rt €39 98 -

(1) (D). (B). (E). (A). (C)
(2) (A). (C). (D). (E). (B)
(3) (C). (B). (D). (A). (E)

(4) (B). (D), (C). (4). (E)

Options :

5362284717. 1
5362284718.2
5362284719. 3
5362284720. 4

Question Number : 131 Question Id : 5362281211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Afas niErent (€8 <8 yIrRfgs Uast gorsiars & a@gH O
(A)  T9HY Fw yrrfes

(B) @939 fiw g

(C) T=us fAw A

D) g3 i feax

(1) (B). (A). (C). (D) (2) (B). (D). (A), (C)
(3) (A). (B). (D). (C) 4y (A, (D). (B). (C)
Options :

5362284721. 1
5362284722.2
5362284723.3
5362284724. 4

Question Number : 131 Question Id : 5362281211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Afas niErent (€8 <8 yIrRfgs Uast gorsiars & a@gH O
(A)  T9HY Fw yrrfes

(B) @939 fiw g

(C) T=us fAw A

D) g3 i feax

(1) (B). (A). (C). (D) (2) (B). (D). (A), (C)
(3) (A). (B). (D). (C) 4y (A, (D). (B). (C)
Options :

5362284721. 1
5362284722.2
5362284723.3
5362284724. 4

Question Number : 132 Question Id : 5362281212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At sTe-39ae & AOl S gH

(Ay fsaH FAar

(B)  udtr

(C) IS B

(D)  wifgafaar

75 ot feamur feT Rt €39 3

(1) {A). (C). (B). (D) (2 (C), (A). D), (B)
(3) (B). (C). (A). (D) (4) (D). (A). (B). (O)
Options :

5362284725. 1
5362284726. 2
5362284727.3
5362284728. 4

Question Number : 132 Question Id : 5362281212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At sTe-39ae & AOl S gH

(Ay fsaH FAar

(B)  udtr

(C) IS B

(D)  wifgafaar

75 ot feamur feT Rt €39 3

(1) {A). (C). (B). (D) (2 (C), (A). D), (B)
(3) (B). (C). (A). (D) (4) (D). (A). (B). (O)
Options :

5362284725. 1
5362284726. 2
5362284727.3
5362284728. 4

Question Number : 133 Question Id : 5362281213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



37, A, H. TEAT et € 3o ool uRSSr @ yarHE T T9 migA'S At g 3:
(A) feaweaRe

(B) 99 554 3 & YI9

(C)  Ume ¥ AT TgEpa

(D) Uae & FaOer

¥ fou feasyt foF Aot €39 fagz o

(1) (D). (B). (A). (C) (2)y (A (B). (C), (D)

(3 (B). (A), (C). (D) (4 (C). (A). (B). (D)
Options :

5362284729. 1
5362284730. 2
5362284731.3
5362284732. 4

Question Number : 133 Question Id : 5362281213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



37, A, H. TEAT et € 3o ool uRSSr @ yarHE T T9 migA'S At g 3:
(A) feaweaRe

(B) 99 554 3 & YI9

(C)  Ume ¥ AT TgEpa

(D) Uae & FaOer

¥ fou feasyt foF Aot €39 fagz o

(1) (D). (B). (A). (C) (2)y (A (B). (C), (D)

(3 (B). (A), (C). (D) (4 (C). (A). (B). (D)
Options :

5362284729. 1
5362284730. 2
5362284731.3
5362284732. 4

Question Number : 134 Question Id : 5362281214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g fefapirs ¥ feam =T & At o 9t
(A)  Foga=HE I fefors

(B) femawr

(C)  fefsame g fefomrs

(D) =9oesHR I fefamrs

(E) {589 g fefomrs

(1) (A). (C). (B). (E). (D)
(2) (B). (E). (A). (C). (D)
(3) (B). (C). (D). (A). (E)
(4) (C). (A). (E). (D). (B)

Options :

5362284733. 1
5362284734.2
5362284735.3
5362284736. 4

Question Number : 134 Question Id : 5362281214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g fefapirs ¥ feam =T & At o 9t
(A)  Foga=HE I fefors

(B) femawr

(C)  fefsame g fefomrs

(D) =9oesHR I fefamrs

(E) {589 g fefomrs

(1) (A). (C). (B). (E). (D)
(2) (B). (E). (A). (C). (D)
(3) (B). (C). (D). (A). (E)
(4) (C). (A). (E). (D). (B)

Options :

5362284733. 1
5362284734.2
5362284735.3
5362284736. 4

Question Number : 135 Question Id : 5362281215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



37, ni39 fiw S yR=a & AOt aE-gH 9
(A) wfos Aeew

(B) HHEgHS

(C)  arfe miftrs
(D) ferdEs
75 fou feamur fe3° ROt €39 35

(1) (A). (B). (C). (D)
(2) (C). (D). (B). (A)
(3) (A). (C). (D). (B)
(4) (B). (C). (D). (A)

Options :

5362284737. 1
5362284738. 2
5362284739.3
5362284740. 4

Question Number : 135 Question Id : 5362281215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



37, ni39 fiw S yR=a & AOt aE-gH 9
(A) wfos Aeew

(B) HHEgHS

(C)  arfe miftrs
(D) ferdEs
75 fou feamur fe3° ROt €39 35

(1) (A). (B). (C). (D)
(2) (C). (D). (B). (A)
(3) (A). (C). (D). (B)
(4) (B). (C). (D). (A)

Options :

5362284737. 1
5362284738. 2
5362284739.3
5362284740. 4

Question Number : 136 Question Id : 5362281216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5" € JO5 ©97 95

gEsl :  goa T fefsor fous & sfeoorst mifr fefsor feg wAgr & 91 a3 femes Foet 3

fefsom va3, ASST W3 AEIET IF Y5 J9% J6 WS OE S gU-395T ¥ mifis 75 gﬁi§
72 75|
gas [ : ug, gost 9t frene-yfaforr = ferdaz difser AuRe 3 wer T fa 999 et = feust gy
HS39 I AU 2 & U9al 9F ¥ gege & muE fex fefsom e 91
Suda=s s =t IEat feu fou feamur e Rt €59= 3=
(1) Fus I »i= gus 11 o< 3 75 |
(2) aus [ »=E g [I B< 3183 05 |
(3) oEsladtadansllassal
(4) oEs]lawsJaEs Tl
Options :
5362284741. 1
5362284742.2

5362284743. 3
5362284744. 4

Question Number : 136 Question Id : 5362281216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5" € JO5 ©97 95

gEsl :  goa T fefsor fous & sfeoorst mifr fefsor feg wAgr & 91 a3 femes Foet 3

fefsom va3, ASST W3 AEIET IF Y5 J9% J6 WS OE S gU-395T ¥ mifis 75 gﬁi§
72 75|
gas [ : ug, gost 9t frene-yfaforr = ferdaz difser AuRe 3 wer T fa 999 et = feust gy
HS39 I AU 2 & U9al 9F ¥ gege & muE fex fefsom e 91
Suda=s s =t IEat feu fou feamur e Rt €59= 3=
(1) Fus I »i= gus 11 o< 3 75 |
(2) aus [ »=E g [I B< 3183 05 |
(3) oEsladtadansllassal
(4) oEs]lawsJaEs Tl
Options :
5362284741. 1
5362284742.2

5362284743. 3
5362284744. 4

Question Number : 137 Question Id : 5362281217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5" € o096 ¥99 76

gas ]  : HEY ABH M3 MRS € §E FarSt @ yfafonr & g3 g 71319 9 Afow feedt gerst &
Y FeaT 'YW T | faR soReet S8 UM ufost nreResT 91

gas [I : FJoHTS 39St ARTS 3 feeofoa 39 3 AT He & w3 nifSH A9 UeHsSH 3 Ho & AR feg ans 2
7w feu Afas 3= =91 Ifos &t Hes REfus 9w

Sudaz aEs =t IESt feg fod feamut fes Fat S99 3&:

(1) Fus [ w2 g5 1L ©< Adt 75|

(2) g5 w3 aEs 11 92 %3 95|

(3) oE51RdTus ags I 9153 91

(4) ous 1 %3 T ug &8s 11 At 91

Options :

5362284745. 1

5362284746.2

5362284747. 3
5362284748. 4

Question Number : 137 Question Id : 5362281217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5" € o096 ¥99 76

gas ]  : HEY ABH M3 MRS € §E FarSt @ yfafonr & g3 g 71319 9 Afow feedt gerst &
Y FeaT 'YW T | faR soReet S8 UM ufost nreResT 91

gas [I : FJoHTS 39St ARTS 3 feeofoa 39 3 AT He & w3 nifSH A9 UeHsSH 3 Ho & AR feg ans 2
7w feu Afas 3= =91 Ifos &t Hes REfus 9w

Sudaz aEs =t IESt feg fod feamut fes Fat S99 3&:

(1) Fus [ w2 g5 1L ©< Adt 75|

(2) g5 w3 aEs 11 92 %3 95|

(3) oE51RdTus ags I 9153 91

(4) ous 1 %3 T ug &8s 11 At 91

Options :

5362284745. 1

5362284746.2

5362284747. 3
5362284748. 4

Question Number : 138 Question Id : 5362281218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I5" et € Gafsnr e e s (A) i gt @92 (R) T

gas A : At AfgS € wufew @@ § T9s O faor 7 Aee 7 f@fa fer 9 v9sa v fe=
AIgudt o 3 fearm afemr
g9z R : fem oo = foo= aus & v9=x ¥ feam § @y, afesr 3 oeq wrfe ouF ¥ feam o8
I T95 ©1 B3 a0 [FETF afesr I fasr F&t A9 qut = Wity T3 ot T
&uda=s nigAe 35 sy fes faoTr Rt T
(1) Awfrardt 3, R TSI TI
(2) A W3 R €< At 95|
(3) AWMIRER IS TS|
(4) AFRII,RISITI
Options :
5362284749. 1
5362284750. 2

5362284751.3
5362284752. 4

Question Number : 138 Question Id : 5362281218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I5" et € Gafsnr e e s (A) i gt @92 (R) T

gas A : At AfgS € wufew @@ § T9s O faor 7 Aee 7 f@fa fer 9 v9sa v fe=
AIgudt o 3 fearm afemr
g9z R : fem oo = foo= aus & v9=x ¥ feam § @y, afesr 3 oeq wrfe ouF ¥ feam o8
I T95 ©1 B3 a0 [FETF afesr I fasr F&t A9 qut = Wity T3 ot T
&uda=s nigAe 35 sy fes faoTr Rt T
(1) Awfrardt 3, R TSI TI
(2) A W3 R €< At 95|
(3) AWMIRER IS TS|
(4) AFRII,RISITI
Options :
5362284749. 1
5362284750. 2

5362284751.3
5362284752. 4

Question Number : 139 Question Id : 5362281219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



do fedir € Gafanr fes’ fea aas (A) 2 gt a9 (R) @

ggs A yIs fAw &t afe 99 f9 su-gusr = I A9+t a9t Hiewr famr ug fe <t Enet afes fem
I, B AgE 75|

gas R : fem o 3= feg © fa afe 397, 22, 3503, & 3 faor g Of oot Raet|

Sudaz nigAe 5 fou feg fage mat O

(1) AFRRAT,RIBI I

(2) A g3 T, R A T

(3) AwIR AN TS

(4)  AFRS T, R wifex At T

Options :

5362284753. 1
5362284754.2
5362284755. 3
5362284756. 4

Question Number : 139 Question Id : 5362281219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



do fedir € Gafanr fes’ fea aas (A) 2 gt a9 (R) @

ggs A yIs fAw &t afe 99 f9 su-gusr = I A9+t a9t Hiewr famr ug fe <t Enet afes fem
I, B AgE 75|

gas R : fem o 3= feg © fa afe 397, 22, 3503, & 3 faor g Of oot Raet|

Sudaz nigAe 5 fou feg fage mat O

(1) AFRRAT,RIBI I

(2) A g3 T, R A T

(3) AwIR AN TS

(4)  AFRS T, R wifex At T

Options :

5362284753. 1
5362284754.2
5362284755. 3
5362284756. 4

Question Number : 140 Question Id : 5362281220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Jo 2 QoS fESr areher T5: few § @Es (A) 2 ¥H § aee (R) faor famr

g5 A . A 93 T gU-5AE, S9-U9Ht, S9-73l, go-T99t fisr 91 feo wiE feonr 99 99 e
Une gt 09t § Su9-SuT AENISE AG-RHT T YySH 58T U5 |

g5 R : fa@fa fer fema feg fu-<u fefsofia Afimit S96 Tu9-us ARfE991 A5-AHT & Y=H
ger faor ® wuEt Afgnraraa IF arfer Sue 92 feR oost €3 oA 39 751

SusTs Sxfor &t et fow A Tow feamy T

(1) AnZR. €2 3t 75 m3 R. A =t Aot foorfipr 71

(2) A wZR. £F 3 75 m3 R. A 7t Aot foorftpr 3t 31

(3) AdET WRISITI

(4) A BT TUI R T TI

Options :

5362284757. 1
5362284758. 2
5362284759. 3
5362284760. 4

Question Number : 140 Question Id : 5362281220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



J5 € Ga=hr fFSr adhr o5 fea § @95 (A) »3 B9 @ @es (R) foor famr 3

g5 A . A 93 T gU-5AE, S9-U9Ht, S9-73l, go-T99t fisr 91 feo wiE feonr 99 99 e
Une gt 09t § Su9-SuT AENISE AG-RHT T YySH 58T U5 |

gas R : faB8fx fen fema feu fu-<u fefsofra Afimir 995 Fu9-Ju9 Afowreoa A5-AYT™ & Y=H
ger fagr & nrust Afswrarsa 9 arfen Jue 92 feR uast 83 =AT 39 751

ez Gafor St Iuet feu A o= feamy T

(1) AwZR. T2 3 75 m2 R. A 7t At foorfimr 91

(2)  AwZR. T2 39 75 m2 R. A 7t At fonrfimr &5t 71

(3) ASET UIR IBI TI

(4) AF®3TuwR =TI

Options :

5362284757. 1

5362284758.2

5362284759. 3
5362284760. 4

Sub-Section Number : 2
Sub-Section Id : 53622847
Question Shuffling Allowed : Yes

Question Id : 5362281221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



35 fei U9 € wrore T yEs 399 91 3 95 33 ¥ €39 f&8:

g 3 GusEr = wow fsAfos a9s, 7 Qusw § I &% foums ¥ aFt ggw fow &dt | nEws JE
g fefomrfes fras Age adt fagh € wrorg 3 AR &b srer @ Quamer &t 35 &St 7 Aa | aEt @t
37 feg fagsr ggsr &t Wi 7 7 9 fa far fewa &t 59t S0 oot g fog faodt &t Gusar i
Ge9s wEt (58 niEs aees 3 fors € aEr fewrfanr &t 58t 3§ Ut &t Gueer &t faor 7 Raer 9, U
gt I fefomrst wifdt 59t 3 fdet & Guzm g9 &% =t A7 Aee 31 Quzwr &t AfEsSt 3§ AHSE &E
FE WO FIE AT Ta, U9 fewst fe=f agt &t #ifsw gu feu At adt Hiewr 7 Aaerl fiAs w7 fEx
g Hfenr Jer 7 fa frost 58t 9o 8 WY 9 3 ydt 337 AT AdE BF 58t 3 67 vy 3 & QU
Hazr gdter 71 feg fAos SREteYr &dt | vt 2 5919 55 &a fewrfant % & UATE ¥ gerg Jet 3§
AHSE T5 |

Sub questions

Question Number : 141 Question Id : 5362281222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

3T 3 GugTET € »irunt f9RS = sEas HRE &t 97

(1) € Gugme= ¥ U39 fuee-fionr &t fersedt

(2) far usmr &t ferm 37 = foouas

(3) far Susmr 2 3 It fonrargea ferms=T &t us's
(4) I 3 QuzTHT T IHWS FeF o AE I fFaTr
Options :

5362284761. 1

5362284762. 2

5362284763. 3
5362284764. 4

Question Number : 142 Question Id : 5362281223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HAg &t =T 3 GuseT ¥ Sewr-faus = f5uH O

(1) IR & 9=39 (2) = &t fonvraas
(3) ITHT T FETT=ET (4) T F g9= foud st
Options :

5362284765. 1
5362284766. 2
5362284767. 3
5362284768. 4

Question Number : 143 Question Id : 5362281224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Yt 3 warg =t QuzTETEt femsedt €t Yy 8wsE &t 37

(1) EusTHE U39 (2) uar-feg3
(3) wEE-IIE (4) wEE-ydg
Options :

5362284769. 1
5362284770. 2
5362284771.3
5362284772. 4

Question Number : 144 Question Id : 5362281225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yt 3 Fiarg @ QusTETE 839 ¥ o3 fafger € gorfonr &t Quamet uss AR HEGS wrEEt 97
(A)  niEwT 3 FIEE
(B) foms 3 nigwr
(C) T95® 3 farg
(D) formg 3 fRemr
(E) o95® 3 aEs

Js ok feamu fog Rat €39 38 -

(1) A.B € 2} B.CD

(3) C.D.E 4 B.D.E
Options :

5362284773. 1
5362284774.2
5362284775.3
5362284776. 4

Question Number : 145 Question Id : 5362281226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



it 3 F9Tg 2 599 far far 3 § yst 397 AvsE 957

(A)  uwEt

(B)  fa=t

(C) =9

(D) it

(E) Sudaz fes a=t &t

J5 o feamy fog At €39 35 -

(1) A.C.E 2y B.D.E
3 AC.D 4 C.D.E
Options :

5362284777. 1
5362284778. 2
5362284779. 3
5362284780. 4

Question Id : 5362281221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



35 fed U € »ioe 3 yAs 389 91 T 95 S ¥ €39 e

g 3 Gusr T wow foRfos a9s, 7 Qusw § I &% foums ¥ It ggw fou &dF | wEws e
mfrd fefamrfaa frars Age &dt fAgh @ e 3 ARre & garer @ Quamare &t 95 &St 7 Aa | JEt @t
T feg fsgs st & v § Aer T 3 faR fewa & 58t 20 ot gt fo faost & Guswr 31
Geg9s wEt (58 wims ages 3 forrg € aEr fewfonr &t 59t 3 Ut &t Guswr & faor 7 e 9, U9
get I fefaprst wifndt a9t § 9t &t Guse o9 &% &t 77 Aaer 91 Suswr &t AfEst § AHse &8
FE WOg HIE AT T5, U9 fevst feef agt & »ifsw gu feu Aot a9t Hienwr 7 Aaerl fiAs e fEx
wrarg Hiewr 7 @ fa Aot 59t 9o @@ Wy 977 3 udt 397 AWS AaE €7 58t 3 6R vy 3 &t GusE
Hozr gdter 7| feg fros SRetaur odt | uidt 2 5919 55 &ae fewfonr % & URE ¥ gerg det 3§
AHSE T5 |

Sub questions

Question Number : 141 Question Id : 5362281222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T GusTET T »iruRt f9ES = I5%aTd HRST &t 77

(1)  © Guzme ¢ U39 fuse-fionr &t forsedt

(2) far GusTr &t feram gwr = faguas

(3) far GusTr 2 3 I fonragsa ferms=T &t us'=s
(4)  FE 3 QuIE T THIS S ° A3 3 fGo3r
Options :

5362284761. 1

5362284762. 2

5362284763. 3
5362284764. 4

Question Number : 142 Question Id : 5362281223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HAg &t =T 3 GuseT ¥ Sewr-faus = f5uH O

(1) IR & 9=39 (2) = &t fonvraas
(3) ITHT T FETT=ET (4) T F g9= foud st
Options :

5362284765. 1
5362284766. 2
5362284767. 3
5362284768. 4

Question Number : 143 Question Id : 5362281224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Yt 3 warg =t QuzTETEt femsedt €t Yy 8wsE &t 37

(1) EusTHE U39 (2) uar-feg3
(3) wEE-IIE (4) wEE-ydg
Options :

5362284769. 1
5362284770. 2
5362284771.3
5362284772. 4

Question Number : 144 Question Id : 5362281225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yt 3 Fiarg @ QusTETE 839 ¥ o3 fafger € gorfonr &t Quamet uss AR HEGS wrEEt 97
(A)  niEwT 3 FIEE
(B) foms 3 nigwr
(C) T95® 3 farg
(D) formg 3 fRemr
(E) o95® 3 aEs

Js ok feamu fog Rat €39 38 -

(1) A.B € 2} B.CD

(3) C.D.E 4 B.D.E
Options :

5362284773. 1
5362284774.2
5362284775.3
5362284776. 4

Question Number : 145 Question Id : 5362281226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



it 3 F9Tg 2 599 far far 3 § yst 397 AvsE 957

(A)  uwEt

(B)  fa=t

(C) =9

(D) it

(E) Sudaz fes a=t &t

J5 o feamy fog At €39 35 -

(1) A.C.E 2y B.D.E
3 AC.D 4 C.D.E
Options :

5362284777. 1
5362284778. 2
5362284779. 3
5362284780. 4

Sub-Section Number : 3
Sub-Section Id : 53622848
Question Shuffling Allowed : Yes

Question Id : 5362281227 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension



TRl IyEc e 6T 1003w T §9 fef

TISHTIY NGAS S MTUE Ha=ar 3 ffer-mashl T wWae Yus &35 o fonrst 920 @ wiZ 89 »iy Haw
T HoE® fem wudt fiws 9% § TU9 T J: AAS St St fee fenas gEr Aes fEeT-mashr 3
Ho<ar ¥ 935 fem yRds wigse a9er @ w3 e fegr & wige Suer § Ao=a Ot feg &t 99 § €3fRs
gger T 95T T WS DT ST I=1 T HETE! g ofowr  fiws o fourum fefsore oSt fem nrum
HaE's U8E ¥ AHGE g 91 89 Hay »iS yfaest § foRe dt feq ©AT ® ning® AHST T miS HEHt Ho 3
Aged It yfagst € 0 3 ¥ fomeny 3 »ifs AoV o= @ Uz @ gu oo fooeer 01 fem 397 &0
FHUET, Howd »= faprs S S9aTSHa AaSh enrer feATS HEHt ANTH § H'a<t AEOr € Fes fee gger @
w3 fEedt migse T Jfoz &St AWSS AfESr @ w95z o9 HeYW § wiur feg wie yfaest @
TI99S RAS &% A3 J1 wiAgr aefent §T HoY 3 yfagst @ Ayg fafenre 2 v feu fenrus gishr
T e g YyHfes Sage dnS feRfem sor S aeer @

afesT mrsTHEt yge € Wit 5 2 fanns <t few yarg & 71feo fomrs @3 37 fER o8t wide & AN
gzer 7 fa vyt 3553 o o a9s fem Ao fioer O w2 @3 €F yFs AEld o9 & fAm enrer fER
famrs e Aeg diT AT T

Sub questions

Question Number : 146 Question Id : 5362281228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afesT w3 famrs = &t ASO 97
(1) Ffe3T, niaT & AN T

(2)  afes, faows &t fea y@g 91
(3)  afesr St 937 feg more fimeT T
(4)  afesr, fior famrs & AeS T

Options :
5362284781. 1
5362284782.2



5362284783.3
5362284784. 4

Question Number : 147 Question Id : 5362281229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fsrosT aas At B 7

(1) o=t W™ HEYT 2 Hare® 3 HAies 93557 § 209 HEeT J|
(2) S, FIOTSHE RESMT T fenmus RHAE-H'GS! UAS U7 9= 3|
(3) &=, HEY I yfagst & AT faferr< § yifes a9 T
(4)  afesr, frsHet yare 3 20 widenst qeaT 91
Options :
5362284785. 1
5362284786. 2

5362284787. 3
5362284788. 4

Question Number : 148 Question Id : 5362281230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TISHSIY MEA'T T € TESHA U T5;

()  fEforst wigg= = qfoz)

(B) 39o g €57 gu ==

(C) =5 335 &% Ho<dt UAS SR8 E |
(D) fefsoma oSt fog aoes uga)

¥% fou feamut fos Aot €39 faoT ©:

(1) (A). (D) (2) (B). (C)
(3) (B). (D) (4) (C).(D)
Options :

5362284789. 1



5362284790. 2
5362284791. 3
5362284792. 4

Question Number : 149 Question Id : 5362281231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ffed nae =F 92 &t 97

(A) 5T T HeT=T

(B) H&=at 95w

(C) feer past

Dy fefzorRa o=t

I3 fou feamu fed’ rat €29 fags O

(1) (A). (B) (2) (B). (O)
(3) (C). (D) 4) (A). (D)
Options :

5362284793. 1
5362284794. 2
5362284795.3
5362284796. 4

Question Number : 150 Question Id : 5362281232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



=t =t arfea fapet fou fao3 W Gue 58 ge 97
(A)  IIESHAE F3T S uEE

(B)  yfcesx Fon &t fifs

(C)  mvira faforr = Aeara

(D)  woH 3 yfaast &t niggssT

I3 fou feamy fo3 mat €39 fao=

(1) (A)n= (C) (2) (A n=E (D)
(3) (B) = (D) 4) (C)ym3 (D)
Options :

5362284797. 1
5362284798. 2
5362284799. 3
5362284800. 4

Question Id : 5362281227 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension



TRl IyEc e 6T 1003w T §9 fef

TISHTIY NGAS S MTUE Ha=ar 3 ffer-mashl T wWae Yus &35 o fonrst 920 @ wiZ 89 »iy Haw
T HoE® fem wudt fiws 9% § TU9 T J: AAS St St fee fenas gEr Aes fEeT-mashr 3
Ho<ar ¥ 935 fem yRds wigse a9er @ w3 e fegr & wige Suer § Ao=a Ot feg &t 99 § €3fRs
gger T 95T T WS DT ST I=1 T HETE! g ofowr  fiws o fourum fefsore oSt fem nrum
HaE's U8E ¥ AHGE g 91 89 Hay »iS yfaest § foRe dt feq ©AT ® ning® AHST T miS HEHt Ho 3
Aged It yfagst € 0 3 ¥ fomeny 3 »ifs AoV o= @ Uz @ gu oo fooeer 01 fem 397 &0
FHUET, Howd »= faprs S S9aTSHa AaSh enrer feATS HEHt ANTH § H'a<t AEOr € Fes fee gger @
w3 fEedt migse T Jfoz &St AWSS AfESr @ w95z o9 HeYW § wiur feg wie yfaest @
TI99S RAS &% A3 J1 wiAgr aefent §T HoY 3 yfagst @ Ayg fafenre 2 v feu fenrus gishr
T e g YyHfes Sage dnS feRfem sor S aeer @

afesT mrsTHEt yge € Wit 5 2 fanns <t few yarg & 71feo fomrs @3 37 fER o8t wide & AN
gzer 7 fa vyt 3553 o o a9s fem Ao fioer O w2 @3 €F yFs AEld o9 & fAm enrer fER
famrs e Aeg diT AT T

Sub questions

Question Number : 146 Question Id : 5362281228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afesT w3 famrs = &t ASO 97
(1) Ffe3T, niaT & AN T

(2)  afes, faows &t fea y@g 91
(3)  afesr St 937 feg more fimeT T
(4)  afesr, fior famrs & AeS T

Options :
5362284781. 1
5362284782.2



5362284783.3
5362284784. 4

Question Number : 147 Question Id : 5362281229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fsrosT aas At B 7

(1) o=t W™ HEYT 2 Hare® 3 HAies 93557 § 209 HEeT J|
(2) S, FIOTSHE RESMT T fenmus RHAE-H'GS! UAS U7 9= 3|
(3) &=, HEY I yfagst & AT faferr< § yifes a9 T
(4)  afesr, frsHet yare 3 20 widenst qeaT 91
Options :
5362284785. 1
5362284786. 2

5362284787. 3
5362284788. 4

Question Number : 148 Question Id : 5362281230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TISHSIY MEA'T T € TESHA U T5;

()  fEforst wigg= = qfoz)

(B) 39o g €57 gu ==

(C) =5 335 &% Ho<dt UAS SR8 E |
(D) fefsoma oSt fog aoes uga)

¥% fou feamut fos Aot €39 faoT ©:

(1) (A). (D) (2) (B). (C)
(3) (B). (D) (4) (C).(D)
Options :

5362284789. 1



5362284790. 2
5362284791. 3
5362284792. 4

Question Number : 149 Question Id : 5362281231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ffed nae =F 92 &t 97

(A) 5T T HeT=T

(B) H&=at 95w

(C) feer past

Dy fefzorRa o=t

I3 fou feamu fed’ rat €29 fags O

(1) (A). (B) (2) (B). (O)
(3) (C). (D) 4) (A). (D)
Options :

5362284793. 1
5362284794. 2
5362284795.3
5362284796. 4

Question Number : 150 Question Id : 5362281232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g=t &t arfea fonet fe faos W Gus a5 ger 37

(A)
(B)
(C)
(D)
J5 o
(1)
(3)

Options :

IIGTIHA HIT © UEE

Yfogsas Fon &t fi9

AR fafonr & Agare

Hed 3 yfasst & niggeaT

feamur fes Aat €39 faogr o

(A) »iZ (C) (2)
(B) 2 (D) (4)

5362284797. 1
5362284798. 2
5362284799. 3
5362284800. 4

(A)miZ (D)
(C)mZ (D)



